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KVS DIRECT RECRUITMENT EXAMINATIONS
(Candidate Response Sheet)

Roll Number

Name of the Candidate

Examination Name KVS TGT Social Science

Exam Date & Time 12-02-2023 09:00:00

 Subject : GE_Q01-Q10_KOTGTSS

 Question ID:- 1

Options:-

.1, Option ID :- 1,

. 2, Option ID :- 2,

. 3, Option ID :- 3,

. 4, Option ID :- 4,
 Answer Given:- 2, Option ID : -2

 Question ID:- 2

Options:-

.1, Option ID :- 5,

. 2, Option ID :- 6,

. 3, Option ID :- 7,

. 4, Option ID :- 8,
 Answer Given:- 2, Option ID : -6

 Question ID:- 3

SCANTY
Choose the word similar in meaning to the one given above.
(1) Single
(2) Distressing
(3) Scarce
(4) Still

DEVIOUS
Choose the word opposite in meaning to the one given above.
(1) Covert
(2) Furtive
(3) Quiet
(4) Innocent

Identify the part of speech of the underlined word in the following sentence.
The gentle are not always weak.
(1) Adjective
(2) Adverb
(3) Noun
(4) Verb

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


https://applink.adda247.com/d/5zsmwiLHz7


Options:-

.1, Option ID :- 9,

. 2, Option ID :- 10,

. 3, Option ID :- 11,

. 4, Option ID :- 12,
 Answer Given:- 3, Option ID : -11

 Question ID:- 4

Options:-

.1, Option ID :- 13,

. 2, Option ID :- 14,

. 3, Option ID :- 15,

. 4, Option ID :- 16,
 Answer Given:- 3, Option ID : -15

 Question ID:- 5

Options:-

.1, Option ID :- 17,

. 2, Option ID :- 18,

. 3, Option ID :- 19,

. 4, Option ID :- 20,
 Answer Given:- 3, Option ID : -19

 Question ID:- 6

She is eating an apple.
Choose the option in which the above sentence has been written in Passive Voice.
(1) An apple has been eaten by her.
(2) An apple is being eaten by her.
(3) An apple was eaten by her.
(4) An apple was being eaten by her.

Kewal said, "Lata, why are you working so hard ?"
Choose the option in which the above sentence has been changed into Indirect Narration.
(1) Kewal said to Lata why she was working so hard.
(2) Kewal told Lata why is she working so hard.
(3) Kewal enquired Lata why was she working so hard.
(4) Kewal enquired of Lata why she was working so hard.

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


Options:-

.1, Option ID :- 21,

. 2, Option ID :- 22,

. 3, Option ID :- 23,

. 4, Option ID :- 24,
 Answer Given:- 4, Option ID : -24

 Question ID:- 7

Options:-

.1, Option ID :- 25,

. 2, Option ID :- 26,

. 3, Option ID :- 27,

. 4, Option ID :- 28,
 Answer Given:- 3, Option ID : -27

 Question ID:- 8

Options:-

.1, Option ID :- 29,

. 2, Option ID :- 30,

. 3, Option ID :- 31,

Rearrange the following jumbled words/ phrases into a meaningful and grammatically correct
sentence.
(A) bought is
(B) the horse
(C) recently
(D) an Arab
(E) which I

(1) DEABC
(2) CBDAE
(3) ABDEC
(4) BECAD

Identify the part of the sentence given below which has an error.
Sarita told / me that / she is / going to Mumbai

(a) (b) (c) W
(1) (a)
(2) (b)
(3) (c)
(4) (d)

Identify the tense in which the sentence given below is written.
His silence will prove his guilt.
(1) Simple Present
(2) Simple Past
(3) Simple Future
(4) Present Perfect

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


. 4, Option ID :- 32,
 Answer Given:- 3, Option ID : -31

 Question ID:- 9

Options:-

.1, Option ID :- 33,

. 2, Option ID :- 34,

. 3, Option ID :- 35,

. 4, Option ID :- 36,
 Answer Given:- 2, Option ID : -34

 Question ID:- 10

Options:-

.1, Option ID :- 37,

. 2, Option ID :- 38,

. 3, Option ID :- 39,

. 4, Option ID :- 40,
 Answer Given:- 2, Option ID : -38

 Subject : GH_Q11-Q20_KOTGTSS

 Question ID:- 11

Options:-

.1, Option ID :- 41,

. 2, Option ID :- 42,

Choose the option out of the ones that follow to fill in the blank in the sentence given below.
Nothing will be gained
(1) with
(2) in
(3) by
(4) through

hurry.

Choose the option out of the ones that follow to fill in the blank in the sentence given below,

those unheard are sweeter.Heard melodies are sweet
(1) yet
(2) but
(3) and
(4) for

'ISIRI^ H <o=b< 3R "R STTNTfol ^=llfa =h '3f T̂cT "STR I

3RT^ RT R PiAi^( ul '111 "3^ RT Rf Vlifd Rff fad fl=bd) I Psfa RT Rt i)llTd d^T, Rl fad ^=bdl % ?
R!? ^iqdislf, ddiql RI f?RFR HHfa=h fail ^ 3ilshk1 I?f fl'+idl % I

faddl IRT R PH>I 3#^
(1) RRIT

(2) R^T

(3)
(4) ffa

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


. 3, Option ID :- 43,

. 4, Option ID :- 44,
 Answer Given:- 3, Option ID : -43

 Question ID:- 12

Options:-

.1, Option ID :- 45,

. 2, Option ID :- 46,

. 3, Option ID :- 47,

. 4, Option ID :- 48,
 Answer Given:- 4, Option ID : -48

 Question ID:- 13

Options:-

.1, Option ID :- 49,

. 2, Option ID :- 50,

. 3, Option ID :- 51,

. 4, Option ID :- 52,
 Answer Given:- 2, Option ID : -50

 Question ID:- 14

TR R?t "3R R[ 3RTTfRT tRT RiT TRtf*R> cif̂ lcf '3TR dir̂ R I

fftt RR RT fRRRJI Rft 3Rt RR Rit Wfcl Rff fRR RRiRt 1 f*Rt RR Rit RffcT 'R^f, "3$ 1JR Î TcT Hdidl % ?
Rf RIRRRf, T̂ORT3Tf 3?R RTTRf Rf P̂ K ffaR^RRR HURH^ TlPTf ^ StRifct ft Hchdl 11
RR Rit RTfo %1?R >5RRt 11
(1) y.diidqi 'H

(2) T̂rFPT RRT

(3) RR RR RRR
(4) RR TR Pl -M 5(u|

RtR f^q; RR RSIRT R^t H <Sch< RR R7 STTRTfcT 3RR RR RRtfRRT RfRR RrR Rtf^R I

f^T 3R^ RR TR Pi4dul R!?f R?t RR R?t ?rffcF Rff fRR RR>d1 I fait RR R^t ?lfff Rff, %tt tRR RRidl t ?
Rf RlRdlRt, RTRRTSTf 3?R RRTRt RR f^fldiK lytRR ^:RRR HMRHR) TtRt ^t 3Hlshl

'
d ft RRnTT % I

“^RRR RTRfRRi TTTT t̂ dlrH *4 % :

f^t HMRHR> TTR :

(1) f^R? RTRRT it RTRT RtUt
(2) fRR> BtRi RRRT R>fcid ft
(3) fad'hl fRM 3RTRR ft
(4) r̂ Hdil fRM Cj^R ft

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


Options:-

.1, Option ID :- 53,

. 2, Option ID :- 54,

. 3, Option ID :- 55,

. 4, Option ID :- 56,
 Answer Given:- 2, Option ID : -54

 Question ID:- 15

Options:-

.1, Option ID :- 57,

. 2, Option ID :- 58,

. 3, Option ID :- 59,

. 4, Option ID :- 60,
 Answer Given:- 1, Option ID : -57

 Question ID:- 16

Options:-

.1, Option ID :- 61,

. 2, Option ID :- 62,
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. 3, Option ID :- 63,

. 4, Option ID :- 64,
 Answer Given:- 4, Option ID : -64

 Question ID:- 17

Options:-

.1, Option ID :- 65,

. 2, Option ID :- 66,

. 3, Option ID :- 67,

. 4, Option ID :- 68,
 Answer Given:- 3, Option ID : -67

 Question ID:- 18

Options:-

.1, Option ID :- 69,

. 2, Option ID :- 70,

. 3, Option ID :- 71,

. 4, Option ID :- 72,
 Answer Given:- 1, Option ID : -69

 Question ID:- 19

Options:-

.1, Option ID :- 73,

. 2, Option ID :- 74,

. 3, Option ID :- 75,

. 4, Option ID :- 76,
 Answer Given:- 2, Option ID : -74

 Question ID:- 20

(1)
(2)
(3)
(4) W

Tfffef R =ITPT^ c4< l^<ul 3T#T?f % :

(1) H?1 + 'IS =
(2) ^
(3) + '3^T = <$H ^=K1

(4) TTcf + ^7 = iT^7

f^R f :

(1) W-W

(2) ^T-f^fT

(3) °< K-®IK

(4) WnF'jFRT

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


Options:-

.1, Option ID :- 77,

. 2, Option ID :- 78,

. 3, Option ID :- 79,

. 4, Option ID :- 80,
 Answer Given:- 2, Option ID : -78

 Subject : GA_Q21-Q30_KOTGTSS

 Question ID:- 21

Options:-

.1, Option ID :- 81,

. 2, Option ID :- 82,

. 3, Option ID :- 83,

. 4, Option ID :- 84,
 Answer Given:- 4, Option ID : -84

 Question ID:- 22

cjfe ^7[ fadlH % :

(1)
(2) 3HTffe
(3) 3^=FM

(4) 37Nftf

Which of the following lists contains only output devices ?

(1) Flat Panel Display Technology, Printers, Optical Character Recogniser, Monitor

(2) Printer, Plotter, Barcode Reader, Monitor

(3) Monitor, E-ink Display, Printer, Plotter

(4) Printer, Magnetic Ink Character Recognition, E-ink Display, Plotter

(1) XR^ civ'll =t>l, 3lTP<i=bCl =tA=hi< feiFRlf^R, HMICLI

(2) ftfST,

(3) HMW<( fsfet, knTi<

(4) ftfsr, £|^fd<=h =hWf R=hHl(HVH, fSTTet,

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


Options:-

.1, Option ID :- 85,

. 2, Option ID :- 86,

. 3, Option ID :- 87,

. 4, Option ID :- 88,
 Answer Given:- 1, Option ID : -85

 Question ID:- 23

If an athlete takes 't' seconds to go once around the circular path of radius Y,

What is the athlete's speed ?

2-rrr(1) t

TTT 2
(2)

t

r
(3) 2irt

2TT(4) rt

Treicfte Y BMI ^TllchK '•ifpisi T̂f dJlH ' t' <^?TI % ill Tffo P+KHI % ?

2irr
(1) t

TTT
2

(2)
t

r
(3) 2-irt

2TT
(4) rt

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


Options:-

.1, Option ID :- 89,

. 2, Option ID :- 90,

. 3, Option ID :- 91,

. 4, Option ID :- 92,
 Answer Given:- 3, Option ID : -91

 Question ID:- 24

Consider the following statements regarding the launch of Missile Destroyers/Frigates warship of
the Indian Navy :

(A) 'Surat' and 'Udaygiri' are two frontline warships of the Indian Navy.
(B) 'Surat' is the second stealth frigate of P17A class.
(C) 'Udaygiri' is the fourth stealth - guided Missile destroyer of P15B class.
Which of the following statements given above is/are correct ?

(1) Only (A) and (B)

(2) Only (B) and (C)

(3) Only (A) and (C)

(4) Only (A)

•Jl'tHl % P-WI^d Midi % 'JldMd^l % if fdHfdftdd F̂Tl "MT feMIt fdifdM, I

(A) ‘ ’ ^Kdl -M dlihl %^1 3HiJu?l ^«&Hid It
(B) ‘ iJCcT’ it-17 A SFFt^ fwte t
(c) ‘ dq'MpKV qt-15 B f̂l îT

cSM^dd if il FlT/il Flit %/i|?

(1) (A) aqfk (B)

(2) tor (B) 3fa (c)
(3) (A) #1 (C)
(4) (A)

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


Options:-

.1, Option ID :- 93,

. 2, Option ID :- 94,

. 3, Option ID :- 95,

. 4, Option ID :- 96,
 Answer Given:- 2, Option ID : -94

 Question ID:- 25

Math List - 1 with List - II and select the correct answer using the codes given below :

List - nList - 1

(Sport'VGames)

(i) Mallakhamb

(Arjuna awardees, 2022)

(A) Sakshi Kumari

(B) Nayan Moni Saikia

(C) Sagar Kailas Ovhalkar

(D) Elavenil Valarivan

Codes :

(ii) Kabaddi

(iii) Shooting

(iv) Lawn Bowls

(A) (B) (C) (D)

(1) (i) (iii) (ii) (iv)

(2) (ii) (iv) (i) (iii)

(3) (iv) (i) (iii) (ii)

(4) (iii) (ii) (iv) (i)

-1 - II cFT fadH ^ ^ TBit1! WI Rbf l̂U!,

(31'j?*i lentil 2022)

(A)
(B) -i <m Hlil

(c) WR %efTR 3H|cj^=h<

:

ipr - 11

Ô O
(i)

(ii) =h «i >^s)

(iii) PRIPNMI
(iv) CTFT e||3Q î(D) Sdl^Pld ctlcrllRcH

(A) (B) (C) (D)

(1) (i) (iii) (ii) (iv)

(2) (ii) (iv) (i) (iii)

(3) (iv) (i) (iii) (ii)

(4) (iii) (ii) (iv) (i)

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


Options:-

.1, Option ID :- 97,

. 2, Option ID :- 98,

. 3, Option ID :- 99,

. 4, Option ID :- 100,
 Answer Given:- 3, Option ID : -99

 Question ID:- 26

Options:-

.1, Option ID :- 101,

. 2, Option ID :- 102,

Among the following authors whose Book/Title was selected for the Sahitya Akademi Award
2022 in English language ?

(1) Kamayani Vashisht

(2) Easterine Kire

(3) Anuraddha Roy

(4) Devdutt Pattanaik

PiHfdRdd ‘fif Tf feRT 3T5p3fl *FM 3 HidhK, 2022% ^11
TRlTt ?

(1) ch'IHT^'fl =rf?Ig

(2) ^
(3) arjirar tfa

(4)

Which of the following Indian leaders have served both as the Prime Minister and the Deputy
Prime Minister of the country ?

(1) Jagjivan Ram

(2) Choudhary Charan Singh

(3) I.K Gujaral

(4) V.P. Singh

pHHfdRsid 3^ T̂cTT ^ cT«TT 'OT-'Sf’MH'-bl, cfat F̂R fePTI t ?

(1) TFT

(2) fR?

(3) 3TF?.%. TpPM

(4) fw

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


. 3, Option ID :- 103,

. 4, Option ID :- 104,
 Answer Given:- 3, Option ID : -103

 Question ID:- 27

Options:-

.1, Option ID :- 105,

. 2, Option ID :- 106,

. 3, Option ID :- 107,

. 4, Option ID :- 108,
 Answer Given:- 2, Option ID : -106

 Question ID:- 28

Which kind of the forest is most widespread in India ?

(1) Tropical Evergreen Forests

(2) Tropical Deciduous Forests

(3) Mangrove Forests

(4) Thom Forests

T̂RcT 3TT̂ 5lfel f ?

(1)

(2) HUIHICI1

(3) CH^HRI

(4) <=bl^<;K cR

Consider the following statements :

(a) Indian Rupee depreciated to breach the Rupees 80 per dollar mark for the first time in July
2022

(b) The value of Rupee to one dollar at the time of independence was 20

Choose the correct answer from the codes below :

(1) (a) is correct but (b) is wrong
(2) (a) is wrong but (b) is correct

(3) both (a) and (b) are correct

(4) both (a) and (b) are wrong

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


Options:-

.1, Option ID :- 109,

. 2, Option ID :- 110,

. 3, Option ID :- 111,

. 4, Option ID :- 112,
 Answer Given:- 3, Option ID : -111

 Question ID:- 29

Options:-

.1, Option ID :- 113,

. 2, Option ID :- 114,

. 3, Option ID :- 115,

. 4, Option ID :- 116,
 Answer Given:- 2, Option ID : -114

 Question ID:- 30

Pl^PdRad dip'll RT fcHR P+iPdR :

(a) ‘

'Jeflf, 2022 HSdl ^Kdld PK<M 80 WJ 3lt?f sTd< % TrR TR =FT 'rRTT I

(b) 3HMI<1 % RFPT 4M< % =̂hNel WJ^ >=hlHr1 20 *ft I

•il -̂ l f^TT TTTT RT Wt diU PtiPilR I

(1) (a) R#t (b) RcR t
(2) (a) RRcf t f 3̂ (b) RT?1 t
(3) (a) (b), ^Nf R#f
(4) (a) 3k (b), RRCT f I

Who appoints the Advocate General of a State in India ?

(1) Chief Justice of the Supreme Court

(2) Chief Justice of the High Court of the concerned state

(3) Governor of the concerned state

(4) The President of India

RRcT 3 f R̂Tf RF?q % Tq r̂ftR̂ n ( 'Jl'Kd ) V̂RT % ?

(1) "MNIvId % "5̂ 1

(2) RlWfarf <1̂ % RTR % j^tsM -MNl?kr

(3) RM*ICI RRT % <MMId

(4) 'RTRcT %

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


Options:-

.1, Option ID :- 117,

. 2, Option ID :- 118,

. 3, Option ID :- 119,

. 4, Option ID :- 120,
 Answer Given:- 2, Option ID : -118

 Subject : RA _Q31-Q35_KOTGTSS

 Question ID:- 31

Whose birthday is celebrated in India as the Farmer's Day ?

(1) Lai Bahadur Shastri

(2) Choudhary Charan Singh

(3) Sir Chhotu Ram

(4) Swami Sahajanand Saraswati

T̂RcT 'JI -HRH t^FFT %^ F̂TPTT Wlcn %?

(1) RfM

(2) 'fFf?

(3) TR

(4) *=1IHI W^TFF^ ^K^qcil

The given question is based on the following information :
J $ K means' } is husband of K';
J * K means 'J is mother of K';
J # K means 'J is sister of K';

J © K means 'J is son of K';
If 'F # J © T $ R * L', then how is 'F' related to 'R' ?
(1) Mother
(2) Sister
(3) Sister-in-law
(4) Daughter

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


Options:-

.1, Option ID :- 121,

. 2, Option ID :- 122,

. 3, Option ID :- 123,

. 4, Option ID :- 124,
 Answer Given:- 4, Option ID : -124

 Question ID:- 32

f^TT RRT fHHfdfed W, RIRlfcl 11
J $ KmTR«ft * J, K ^FT -qfcT

J * K T̂ 3*«ft ‘^ K^RIcHf;
J # K Î 3T«Jt ‘ j, K'^^Tt’;
J ® K ^FT 3?«Jt ‘ j' K T̂ 'S^ t’;
Rft 'F # J ® T $ R * L' t cft 'F', 'R' ^ lmR 'SimRRfRfcRT t ?
(1) Rim

(2)
(3) RTRt
(4) ^

Three statements showing relationships have been given which are followed by two conclusions
(I) and (II). Assuming that the given statements are true, find out which of the conclusions is/are
definitely true.
Statements : (1) F < M

(2) J > D
(3) M < J

Conclusions : (I) J > F
(II) D > M

(1) Only conclusion (I) is true
(2) Only conclusion (II) is true
(3) Both conclusions (I) and (II) are true
(4) Neither conclusion (I) nor (II) is true

R H I R R R R T V F#1 rnsR tmiRTt r*n^> RTFRI (I) (II) FRTRTF i R F R l ITtm1RRR1!
Rft f , RF RTR 'frlfak.% RT/RI Pi «eh 4 PiRfcin RR^RFt t/f ?
cF8R : (1) F < M

(2) J > D
(3) M < J

: (I) J > F
(II) D > M

(1) %RR flWf (I) R#11
(2) %RR (II) R#11
(3) fwf (I) sfa (II) ^Fff RFt f I

(4) fRRR? if il Rt RFt RFf 11

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


Options:-

.1, Option ID :- 125,

. 2, Option ID :- 126,

. 3, Option ID :- 127,

. 4, Option ID :- 128,
 Answer Given:- 1, Option ID : -125

 Question ID:- 33

Options:-

.1, Option ID :- 129,

. 2, Option ID :- 130,

. 3, Option ID :- 131,

. 4, Option ID :- 132,
 Answer Given:- 1, Option ID : -129

 Question ID:- 34

D, E, F, G, J, K, L and M are eight friends sitting around a circular table facing towards the centre.
'K' is on the immediate right of 'E'. 'L'is the neighbour of 'J'- 'F is between'J' and 'K'. 'M' is on the
immediate left of 'D', but is not the neighbour of ' J' or 'G'. What is the position of 'G' ?
(1) On the immediate left of 'E'
(2) On the immediate left of 'U
(3) Second to the right of 'K'
(4) Between 'E' and 'K'

3TT3 fa3 D, E, F, G, J, K, L M ^fTT=Hl SlF '3*1% aflT TJ? ]|q;f I'K',' E'
% ^PTf f I 'V ,' ]' TfFft % I 'F'/J' 'M', 'D'% f̂f

7G' -q^rt BFf 11 'G' t?
(1) 'E'% 3lF
(2) '17 % 3Tk
(3) 'K' % Êff sfa^EtR tR

(4) 'E' sfF'K' %

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


Options:-

.1, Option ID :- 133,

. 2, Option ID :- 134,

. 3, Option ID :- 135,

. 4, Option ID :- 136,
 Answer Given:- 1, Option ID : -133

 Question ID:- 35

Three statements are given followed by three conclusions (I), (II) and (III). You have to take these
statements to be true, even if they seem to be at variance from commonly known facts. Decide
which of the given conclusions logically follow(s) from the given statements.
Statements :

(1) All bags are purses.
(2) No purse is suitcase.
(3) Some suitcases are containers.

Conclusions :
(I) No container is purse.
(II) Some containers are pluses.
(EH) No suitcase is bag.

(1) Only conclusion (III) follows
(2) Only conclusion (I) and (II) follows
(3) Only either conclusion (I) or (II) and (IE) follows
(4) All follows

H ) 4 IJIT K [''I'**)'? (I), (II) (III) I FT ^ HNII %
UlMMd: W Tf f^R ddt d I ‘d? =blPjiy % di(d dTddf Tf dlf =f > 4> TT

Plehcldl f /f ?

^SJd :

(1)

(2) d$f 1? I

(3) 4xH< 11

(I) =bl^ =h^d < d?f % I

(H) "TO 11
(in) td d^f 11

(1) %4cT fd^^ (IH) fd=b <ddl t
(2) % T̂ (I) 3?fc (H) Pldidc) t
(3) %dcd dT dt fd^T^ (I) 3TddT (II) Iddiddl if, sfft tdwtf (HI) Pldivldl t
(4) TWt fd**pf Pdcbdc) t
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https://applink.adda247.com/d/XhqWf9lSap


Choose the Venn diagram from the options which represents the correct relationship amongst the
given classes :
Human beings, Teachers, Unmarried

https://applink.adda247.com/d/XhqWf9lSap
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Options:-

.1, Option ID :- 137,

. 2, Option ID :- 138,

. 3, Option ID :- 139,

. 4, Option ID :- 140,
 Answer Given:- 3, Option ID : -139

 Subject : CL_Q36-Q40_KOTGTSS

 Question ID:- 36

^fq=b <rHi 3TT^§ ^>T f^^ % '#3 Wf TR*T^1 r̂fcTT “ft
"RPR, 31«TTW, ^[qqiPsct

:

Which of the following is the default operating system of Microsoft devices ?

(1) Chrome OS

(2) Linux

(3) Windows

(4) iOS

https://applink.adda247.com/d/XhqWf9lSap
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Options:-

.1, Option ID :- 141,

. 2, Option ID :- 142,

. 3, Option ID :- 143,

. 4, Option ID :- 144,
 Answer Given:- 3, Option ID : -143

 Question ID:- 37

Options:-

.1, Option ID :- 145,

. 2, Option ID :- 146,

. 3, Option ID :- 147,

. 4, Option ID :- 148,
 Answer Given:- 1, Option ID : -145

 Question ID:- 38

PinlelRsd 'ff Ff FIT HI^Shl̂ lT'+i Psqi?^ ^>T fs'+ilce 3HTHIPCP| PfHrdH % ?

(1) 3^ -q^T

(2)

(3) fctst'Ji

(4) sr^ sfr -Q^T

Four flash drives A, B, C and D have storage capacity 10 PB, 10 GB, 10 ZB, 10 TB respectively
Which of the following holds true w.r.t. the storage capacity of A, B, C and D drives ?

(1) B > D > C > A

(2) B > D > A > C

(3) A > C > D > B

(4) C > A > D > B

XF^T A, B, C D^3WT: 10 Rt 10 10 10 ®ft •wft'Jl fJFTcTT % I A, B, C
D SRFTT % FRR 3 PlMpclPtsld if ^ ?̂FT FfTHjff % ?

(1) B > D > C > A

(2) B > D > A > C

(3) A > C > D > B

(4) C > A > D > B

https://applink.adda247.com/d/XhqWf9lSap
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Options:-

.1, Option ID :- 149,

. 2, Option ID :- 150,

. 3, Option ID :- 151,

. 4, Option ID :- 152,
 Answer Given:- 3, Option ID : -151

 Question ID:- 39

Options:-

.1, Option ID :- 153,

. 2, Option ID :- 154,

. 3, Option ID :- 155,

. 4, Option ID :- 156,
 Answer Given:- 2, Option ID : -154

The security of a website can be ensured by :

(1) if the url begins with ftp

(2) if the url begins with http

(3) if the url begins with https and has the padlock icon before the url

(4) if the url begins with http and ends with .saf

fit URT TRTCTT t ?

(1) ^^3TR ttjrf (url)/ ftp^^ %
(2) ^ url, http it^ftrfl %
(3) ^ url, https ^^^tcTT t 3ftr url 3ff^f 3ff^R

(4) url, http it ftfi ft .saf TRTRT ftcTT ft

Memory that retain its contents even when the power is switched off is known as :

(1) Volatile

(2) Non-volatile

(3) Static

(4) Random

3TPFft AbUl f̂t t̂ T ^>t *TTftf TWt ft, W ^fdldl 1? ?

(1) ( cftdlil^d )

(2) %-3TftsR (#!

(3) fm

(4) <U <jB*9<=h

https://applink.adda247.com/d/XhqWf9lSap
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 Question ID:- 40

Options:-

.1, Option ID :- 157,

. 2, Option ID :- 158,

. 3, Option ID :- 159,

. 4, Option ID :- 160,
 Answer Given:- 3, Option ID : -159

 Subject : UL_Q41-Q50_KOTGTSS

 Question ID:- 41

Options:-

.1, Option ID :- 161,

. 2, Option ID :- 162,

. 3, Option ID :- 163,

. 4, Option ID :- 164,
 Answer Given:- 3, Option ID : -163

 Question ID:- 42

Which of the following feature is not included in character formatting in MS-Word ?

(1) Making text-bold

(2) Changing colour of the text

(3) Adjusting space between lines

(4) Changing font of the text

T^F T^FT 3 Rft f̂llfnel Rff % ?

(1) ®»-1 Ml

(2)

(3) dl l̂T % % F*fFF^T3^5RZ v̂HT

(4) %=FFZ =BT '’hfe <M <eHI

can be ensured.By undertaking social service in community
(1) Teacher student relation
(2) School management relation
(3) Home school relationship
(4) Teacher Parent relation

RT^PT 3 •HHM F^F % ^ P) Hlf =hcl 3^ W FjplRMcl faPFF WF FF̂ KTF t?
(1) F̂^FN^ WF

(2) FR*F

(3) ’’JIT f̂ FFePT FT3*F

(4) 3T? T̂W-3lf̂ T̂̂ Fi #1

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


Options:-

.1, Option ID :- 165,

. 2, Option ID :- 166,

. 3, Option ID :- 167,

. 4, Option ID :- 168,
 Answer Given:- 4, Option ID : -168

 Question ID:- 43

Options:-

.1, Option ID :- 169,

. 2, Option ID :- 170,

. 3, Option ID :- 171,

. 4, Option ID :- 172,
 Answer Given:- 2, Option ID : -170

 Question ID:- 44

What do you mean by maturation in child's growth ?
(1) Only growth
(2) Only development
(3) It is a growth and development
(4) Matured thinking

HRH=WCII CIICH4 RiMi’f4> ci t ?
(1) 4>q <n
(2) %3<rf R( =hl<H

(3) Rl =bH

(4) HRH =W f f̂cR

What programs in schools would you suggest to address turbulance in adolescents ?
(1) Adolescence program
(2) Adolescence awareness program
(3) Adolescence counselling program
(4) Adolescence health education program

Rt̂ lU sllclchl ‘ ^ fq -ciK if Iqyid'M ij =f?R T̂T =hl4st) M qdWI WR7 -qiRiJ, ?
(1) Rb^iltlcl'tSTI =bl 4sbH

(2) =til4tfiH

(3) Htl f̂ =bl 4shH

(4) Rwikiq**!! t̂ T^TT q> i4shH

https://applink.adda247.com/d/XhqWf9lSap
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Options:-

.1, Option ID :- 173,

. 2, Option ID :- 174,

. 3, Option ID :- 175,

. 4, Option ID :- 176,
 Answer Given:- 2, Option ID : -174

 Question ID:- 45

Options:-

.1, Option ID :- 177,

. 2, Option ID :- 178,

. 3, Option ID :- 179,

. 4, Option ID :- 180,
 Answer Given:- 1, Option ID : -177

 Question ID:- 46

The Boys and Girls in adolescent stage expect
(1) Co-operation
(2) Sympathy
(3) Empathy
(4) Emotional support

in school.

fWkiq*sn 3 ®llRl«hli< (qsjld-M 3 3T T̂̂ TT f ?
(1) W%T

(2) W3^fiT
(3) 1̂3^1

(4) 'H|cHlrH«t> HS'Mh

The social and emotional development is a key factor for :
(1) Growth of child at teenage
(2) Healthy growth of child at formative stage
(3) Growth of child at adolescence
(4) For healthy growth of adult

HIHlpJl<=t> 'HI'HIrM-* fd'frl'H PlHiPhd ^ 1^ % ?
(1) zfa-TTuf ( d^uIN^) stlddi ^
(2) TTRf T̂̂ i ff îT f̂ FRT

(3) i d i o t i c) o|l c l=h 7̂ 1 Pd'+iH
(4) "Sffe T>T faeFTCT

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


Options:-

.1, Option ID :- 181,

. 2, Option ID :- 182,

. 3, Option ID :- 183,

. 4, Option ID :- 184,
 Answer Given:- 3, Option ID : -183

 Question ID:- 47

Options:-

.1, Option ID :- 185,

. 2, Option ID :- 186,

. 3, Option ID :- 187,

. 4, Option ID :- 188,
 Answer Given:- 3, Option ID : -187

 Question ID:- 48

Setting self as a role model, what would you ensure ?
(1) Moral values
(2) Cultural values
(3) Democratic values
(4) Instrumental values

W 4! 3TT^?f oqfel % TOpT dvH %
(1)

(2)

(3) eiWcllf ^'Ti *^4

(4) 4)ful-=tiKul qc~4

fdHlf =Fd *1'^ T̂f 'tjfdP'-dd 6lJll ?Ww1!

Which one of the following could be a major cause of Juvenile delinquency ?
(1) Poor classroom environment
(2) Defective curriculum
(3) Poor socio Economic status
(4) Parents attitude

PdiVlU SFRP-pffo 'FT W ?T ^didl % ?
(1) ŜTT ^ <SKI ®I Misled
(2)

(3) T3TH HIHlPd'b STTMaF f^T%
(4) arfw F̂ =FT

https://applink.adda247.com/d/XhqWf9lSap
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Options:-

.1, Option ID :- 189,

. 2, Option ID :- 190,

. 3, Option ID :- 191,

. 4, Option ID :- 192,
 Answer Given:- 3, Option ID : -191

 Question ID:- 49

Options:-

.1, Option ID :- 193,

. 2, Option ID :- 194,

. 3, Option ID :- 195,

. 4, Option ID :- 196,
 Answer Given:- 4, Option ID : -196

 Question ID:- 50

Education is the creation of 'Sound mind in a sound body' viewed by :
(1) Spenser
(2) Aristotle
(3) Rousseau
(4) Plato

PlHlTdid 3^ r=M=bl 'gfcichH t HRd >*b ^>T PldW f ’ ?
(1) R^RR

(2)
(3) RRTt
(4) ^

What is significance of study tour in School Education ?
(1) Breaks monotony
(2) Promotes collaborative attitude
(3) Entertainment value
(4) Fulfills the project work requirement

337SZJZR cjR ^3RT RTPldidl 1? ?
(1) k «Wddl HHl'rl tl
(2) 'He'HlPldlrH'h ^ ®l<oMI PHddl 11
(3) H6<̂ l % I

(4) 3TR^TT TR ®lcT f^TT T̂RfT 11

https://applink.adda247.com/d/XhqWf9lSap
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Options:-

.1, Option ID :- 197,

. 2, Option ID :- 198,

. 3, Option ID :- 199,

. 4, Option ID :- 200,
 Answer Given:- 1, Option ID : -197

 Subject : UTL_Q51-Q65_KOTGTSS

 Question ID:- 51

Options:-

.1, Option ID :- 201,

. 2, Option ID :- 202,

. 3, Option ID :- 203,

. 4, Option ID :- 204,
 Answer Given:- 1, Option ID : -201

 Question ID:- 52

Investigatory projects given to students comes under :
(1) Experiential Learning
(2) Activity based Learning
(3) Classical Learning
(4) Cognitive Learning

MR'M MHI fHHl'Rbd 33 t?
(1) 37fWT
(2) SfPilRd 3TRplH

(3) 3TRFR
(4) Slf'Wl'llcH'b

Skill development is associated with :
(1) Affective Domain
(2) Psychomotor Domain
(3) Cognitive Domain
(4) Emotional Domain

'hls'lcl fdH[T=hd 3 -H16^r4Cl t ?
(1) *H =tlcH =b
(2) HdblfcM
(3) 'H ^MICHcb

(4)

https://applink.adda247.com/d/XhqWf9lSap
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Options:-

.1, Option ID :- 205,

. 2, Option ID :- 206,

. 3, Option ID :- 207,

. 4, Option ID :- 208,
 Answer Given:- 2, Option ID : -206

 Question ID:- 53

Options:-

.1, Option ID :- 209,

. 2, Option ID :- 210,

. 3, Option ID :- 211,

. 4, Option ID :- 212,
 Answer Given:- 1, Option ID : -209

 Question ID:- 54

The 'stimulus-response' is not associated with
(1) Skinner's theory of learning
(2) Sharrif Kentril learning theory
(3) Thorndike theory of learning
(4) Pavlov's conditioning theory

‘ ’ PlHlTW)d ^ '•Tiff 1? ?
(1) f*M< 3Tf*PTR ftrSTcf
(2) 3#FF1 fell’d
(3) *rrfeif =F STPPTR %gRf

(4) Hiqciiq SFj^TeH

The oldest system of philosophy is
(1) Idealism
(2) Realism
(3) Naturalism
(4) Pragmatism

Mi 'tilddH yuiiei1 %
(1)
(2)
(3) y^rddid
(4) dH^Pldl=IK
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Options:-

.1, Option ID :- 213,

. 2, Option ID :- 214,

. 3, Option ID :- 215,

. 4, Option ID :- 216,
 Answer Given:- 4, Option ID : -216

 Question ID:- 55

Options:-

.1, Option ID :- 217,

. 2, Option ID :- 218,

. 3, Option ID :- 219,

. 4, Option ID :- 220,
 Answer Given:- 1, Option ID : -217

 Question ID:- 56

'Pragmatism' is closely aligned with
(1) Existentialism
(2) Marxism
(3) Naturalism
(4) Realism

* PlMlRfcd if if 7T?pT if t?
(1) 3TfirTf̂ K
(2)
(3)
(4) wsfaf^

What is 'TLM' ?
(1) Teaching Learning Material
(2) Teaching Learning Method
(3) Technical Learning Material
(4) Theory Learning Material

zf TJyf tn-f Wf % ?
(1) cflpcH dPRl
(2) ilF̂ l erf̂ T if̂
(3) <if =M =hci dPfJi if8T5

(4) cTf f̂rf niR’Hd

https://applink.adda247.com/d/XhqWf9lSap
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Options:-

.1, Option ID :- 221,

. 2, Option ID :- 222,

. 3, Option ID :- 223,

. 4, Option ID :- 224,
 Answer Given:- 2, Option ID : -222

 Question ID:- 57

Options:-

.1, Option ID :- 225,

. 2, Option ID :- 226,

. 3, Option ID :- 227,

. 4, Option ID :- 228,
 Answer Given:- 3, Option ID : -227

 Question ID:- 58

The learner develops knowledge by building blocks of information could be attributed to :
(1) Experimentalism
(2) Constructivism
(3) Connectivism
(4) Behaviourism

'^'ll % RwI4) (fs(fr£
SfTTRFuTT % ?

) % TWFf ^ T̂cTf %|^^
(1) y 4ljNi<;

(2) <-CMNIC;

(3) ^=Kic( ic;

(4)

What do you understand by "Learning" ?
(1) Gaining knowledge
(2) Achieving high academic excellence
(3) Positive altered behaviour
(4) Manipulation of circumstances

3lfSFFT’ ^ 3TFRTT T̂T C1 ICH4 t ?
(1)
(2) 3J =bKfH =b TfWT W<T ^vRT

(3) <H =hKlrH=t> sRclRid
(4) HRR l̂fcl4f ^>1 SSd’Ml'JH
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Options:-

.1, Option ID :- 229,

. 2, Option ID :- 230,

. 3, Option ID :- 231,

. 4, Option ID :- 232,
 Answer Given:- 3, Option ID : -231

 Question ID:- 59

Options:-

.1, Option ID :- 233,

. 2, Option ID :- 234,

. 3, Option ID :- 235,

. 4, Option ID :- 236,
 Answer Given:- 3, Option ID : -235

 Question ID:- 60

Non threatening and supportive classroom environment leads to :
(1) Tension free learning
(2) Joyful learning
(3) Effective learning
(4) Informal learning

^5T V-uRd 3fR Hl6ld^ RlHlRbd Tl W sjtcTT %?
(1) ddNti'w sfTwt
(2) 3TH^5R 3lfTO
(3) 3TfWT
(4) 3idlM -c|il<ct) STfipFf

The school garden with lotus pond could be the best example of
(1) Living comer
(2) Learning centre
(3) Aesthetic centre
(4) Teaching comer

diHd % "y3! nR^Rd dldN RlSIld'M ^>T Jll2d RmiRhd ^ Rhfidil <idlS<ul ¥t Hcfcdl % ?
(1) RriR) 4!

(2) 3Tfwi
(3)

(4) aretrm

https://applink.adda247.com/d/XhqWf9lSap
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Options:-

.1, Option ID :- 237,

. 2, Option ID :- 238,

. 3, Option ID :- 239,

. 4, Option ID :- 240,
 Answer Given:- 1, Option ID : -237

 Question ID:- 61

Options:-

.1, Option ID :- 241,

. 2, Option ID :- 242,

. 3, Option ID :- 243,

. 4, Option ID :- 244,
 Answer Given:- 1, Option ID : -241

 Question ID:- 62

What is hidden curriculum ?
(1) The curriculum prescribed in leisure period
(2) The curriculum of SUPW
(3) Inculcating unwritten values
(4) Developments of beliefs

HlcjyW

(1) Tf pcjT^d

(2) FTT

(3) Sffcrf^JcT PddipHd <*> <dl

(4) HMdlStf ^>T

What should be the important characteristics feature of curriculum ?
(1) Flexibility
(2) Learning with understanding
(3) Futuristic vision
(4) Scope for leisure activities

Pd^Hdl W

(1) d -cfldlHd
(2) % TfT«f 3TPwr
(3) r̂f̂ FRT

(4) 3tct «bH? l % ohi4=hdlHl ^^15^1
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Options:-

.1, Option ID :- 245,

. 2, Option ID :- 246,

. 3, Option ID :- 247,

. 4, Option ID :- 248,
 Answer Given:- 4, Option ID : -248

 Question ID:- 63

Options:-

.1, Option ID :- 249,

. 2, Option ID :- 250,

. 3, Option ID :- 251,

. 4, Option ID :- 252,
 Answer Given:- 1, Option ID : -249

 Question ID:- 64

In present circumstances in classroom how do you ensure enhanced learning ?
(1) Model charts
(2) Activity based teaching
(3) Use of group discussion method
(4) Modem ICT tools

qcinM HRRsrfcT 3fFl ^PlR-dcl dR'l ?
(1) 'RTSvf^% fTT̂ Ff

(2) lfclfafa/ <iil4=bQllH STT l̂lfef f?F3PJI

(3) faRtf f r̂flf 3r#T

(4) SFTfcjRRj 3TF^ Rt <SM =t)< ul

What is the significance of evaluation in classroom ?
(1) to measure the learning levels
(2) to find out weak areas of students
(3) remediation and counselling
(4) to gauge the ability of understanding

W 3 T̂T RTsfenTf t ?
(1) 3if4JIH ^>T ¥R

(2) f^nf«f4l % TTcTT <njIM I

(3)

(4) 4tJ m\^ Tjfcf ^vRl
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Options:-

.1, Option ID :- 253,

. 2, Option ID :- 254,

. 3, Option ID :- 255,

. 4, Option ID :- 256,
 Answer Given:- 2, Option ID : -254

 Question ID:- 65

Options:-

.1, Option ID :- 257,

. 2, Option ID :- 258,

. 3, Option ID :- 259,

. 4, Option ID :- 260,
 Answer Given:- 2, Option ID : -258

 Subject : CCLE_Q66-Q80_KOTGTSS

 Question ID:- 66

The informal learning of child takes place more in
(1) School
(2) Home
(3) Library
(4) Playground

gg 3 ^RTT % ?
(1) Pi l̂ld ^
(2)
(3)

(4) $gFT

Normally the schools tend to be biased in following activity.
(1) Self assessment of the school
(2) Assessment of classroom teaching
(3) Assessment of learning by children
(4) Assessment of overall development

HlMMcP-ll PIMITWKI "£f «hl4'+)dlM 3 fqyid'H RSjPTRT gvRf Reffrl ^Icft % ?
(1) faeild* Trt T̂ -3TRicR

(2) Wm3 3tfWT
(3) ®lld =bi gKT 3TfWT 37R5RR

(4) r̂lHil facfclM giT 3TFTRPT

3TT=FRR
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Options:-

.1, Option ID :- 261,

. 2, Option ID :- 262,

. 3, Option ID :- 263,

. 4, Option ID :- 264,
 Answer Given:- 2, Option ID : -262

 Question ID:- 67

Options:-

.1, Option ID :- 265,

. 2, Option ID :- 266,

. 3, Option ID :- 267,

. 4, Option ID :- 268,
 Answer Given:- 1, Option ID : -265

 Question ID:- 68

The school could be best
(1) Powerful learning centre
(2) Powerful socialising agency
(3) Activity centre
(4) Knowledge transmitter

agency.

(1) R?I =Fd

(2) "Q^Pat
(3) =bl4=h<rtlH

(4) WT

What is Autism ?
(1) Brain development disability
(2) Muscular disorder
(3) Sensory disorder
(4) Auditory disorder

W f ?
(1) HR-d^ f^TTRT 4 f4=bl<
(2)
(3) 444) fa =bK

(4) ?m
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Options:-

.1, Option ID :- 269,

. 2, Option ID :- 270,

. 3, Option ID :- 271,

. 4, Option ID :- 272,
 Answer Given:- 4, Option ID : -272

 Question ID:- 69

Options:-

.1, Option ID :- 273,

. 2, Option ID :- 274,

. 3, Option ID :- 275,

. 4, Option ID :- 276,
 Answer Given:- 2, Option ID : -274

 Question ID:- 70

What is Dyscalicula ?
(1) Inability to speak
(2) Inability to write
(3) Inability to read
(4) Inability to identify the numbers

Tŝ R'i^xni ’ =P4T % ?
(1) 3wTm
(2) 3 3t^FfcTT

(3) ' T̂ 3 3t8jq?Tt

(4) Ute'-lISff 3 37^FRTT

What is the minimum percentage of disability prescribed to 'Divyang' to avail benefits from
Government ?
(1) 25%
(2) 40%
(3) 35%
(4) 50%

‘SrcjfasiTSTf ‘SRSpR ‘ 3 -̂IdH P+dHl fh ^ldddl #TT % ?
(1) 25%
(2) 40%
(3) 35%
(4) 50%
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Options:-

.1, Option ID :- 277,

. 2, Option ID :- 278,

. 3, Option ID :- 279,

. 4, Option ID :- 280,
 Answer Given:- 2, Option ID : -278

 Question ID:- 71

Options:-

.1, Option ID :- 281,

. 2, Option ID :- 282,

. 3, Option ID :- 283,

. 4, Option ID :- 284,
 Answer Given:- 3, Option ID : -283

 Question ID:- 72

How will you Identify a child in class room suffering from mental illness ?
(1) Over playing
(2) Aggression
(3) Extrovert
(4) Isolating from crowd

3TN =F$T T? 3 nlfscl ?
(1) <sld

(2) 3il5t> lM=h H <=jfrl
(3) sifs?^(4) T^l^

What is the role of Yoga and Sports in School Education ?
(1) Develops the value of co-operation
(2) Sense of belongingness
(3) Takes care of fitness of body and mind
(4) Relaxation of mind

%$TI3 #rf t ?
(1) faebRna % i

(2) 3HH -K^ '^IcTT 11
(3) '?TflT 3p|T Hfkltcb dTT fa
(4) Hnfa=t> fa l̂ffa

I?frfT 1? I

https://applink.adda247.com/d/XhqWf9lSap
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Options:-

.1, Option ID :- 285,

. 2, Option ID :- 286,

. 3, Option ID :- 287,

. 4, Option ID :- 288,
 Answer Given:- 3, Option ID : -287

 Question ID:- 73

Options:-

.1, Option ID :- 289,

. 2, Option ID :- 290,

. 3, Option ID :- 291,

. 4, Option ID :- 292,
 Answer Given:- 2, Option ID : -290

 Question ID:- 74

Which one of the following leadership style is criticized ?
(1) Autocratic Leadership
(2) Democratic Leadership
(3) Servant Leadership
(4) Transformational Leadership

PlHplRsd 3 ^SfTctP̂ TT T̂Tcft %?
(1)
(2) cil'bdlfa'fc
(3) dldK

(4) <<*HkK=bKl

What is the main objective of Institutional planning ?
(1) To provide adequate funds
(2) Optimum utilization of existing resources
(3) To conduct workshops and seminars
(4) To develop strategy for academic excellence

H 'WIdd Pi 41'Jld % ?
(1) fy'KlPfl TRFT =h<dl

(2) pR Tq%T

(3) cbl4^llcll ^pHdR 4'dllcld dRdl

(4) 3l =hiqfH <=b defied I <.ul4lfd PtdipHd R̂T

https://applink.adda247.com/d/XhqWf9lSap
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Options:-

.1, Option ID :- 293,

. 2, Option ID :- 294,

. 3, Option ID :- 295,

. 4, Option ID :- 296,
 Answer Given:- 4, Option ID : -296

 Question ID:- 75

Options:-

.1, Option ID :- 297,

. 2, Option ID :- 298,

. 3, Option ID :- 299,

. 4, Option ID :- 300,
 Answer Given:- 3, Option ID : -299

 Question ID:- 76

What is the essential requirement of good time table in school ?
(1) Flexibility
(2) Enough scope for exam schedule
(3) Enough scope for leisure activity
(4) To cater to the needs of teachers, students and other stakeholder

3 VSTIH muH ^ 3nPiqi4 w % ?
(1)
(2) FftSTT =fcl4sfcH F̂>t
(3) 3Hcjct) i^i % c^i 4
(4) 3T̂ H«h-f4yir44t 3fk 3T̂ T f$d^lft4l ’’JTT dHdl

What is the significance of annual calender in school ?
(1) All outdoor activities can be planned in advance
(2) All types of examinations can be conducted systematically
(3) All school programs can be executed with ease
(4) School vacation can be planned in advance

faUTcFT 4’ qiP4<*> t?
(1) Jltdf4f44r XT?^ W Hchdl f I

(2) oM^r̂ Tcf^ M FTfSTTq 3tl4lf4d W Hdidl f I

(3) fay Ici î % °bl4shH *JJIHdl ^4<*> cbMiPctd feq^ f I

(4) Pf iggt (^cfchi^i ) 4l^di ^ <fcrR n^nl % i

https://applink.adda247.com/d/XhqWf9lSap
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Options:-

.1, Option ID :- 301,

. 2, Option ID :- 302,

. 3, Option ID :- 303,

. 4, Option ID :- 304,
 Answer Given:- 3, Option ID : -303

 Question ID:- 77

Options:-

.1, Option ID :- 305,

. 2, Option ID :- 306,

. 3, Option ID :- 307,

. 4, Option ID :- 308,
 Answer Given:- 3, Option ID : -307

 Question ID:- 78

The following ensures school-industry relation :
(1) Vocational training program
(2) Organizing seminars
(3) Organizing industry visit by the school
(4) Orientation programs

PiniT̂ d 3^ r̂ yici'M "Slit7! s?RTT %?
(1) oMeWinicb =bl4stiH

(2) f̂*TTR 3iT 3TpfT5R

(3) ]JRT 'if'lcl % T?! RRRI

(4) =t> l4sbH

'Education is complete living' described by :
(1) Frobel
(2) Tagore
(3) Dewey
(4) Spenser

fHHil+d ^3 feFRFT RRRT t Tjnf *ftcR f |

(1)
(2)
(3) fctf
(4) R^RR

https://applink.adda247.com/d/XhqWf9lSap
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Options:-

.1, Option ID :- 309,

. 2, Option ID :- 310,

. 3, Option ID :- 311,

. 4, Option ID :- 312,
 Answer Given:- 2, Option ID : -310

 Question ID:- 79

Options:-

.1, Option ID :- 313,

. 2, Option ID :- 314,

. 3, Option ID :- 315,

. 4, Option ID :- 316,
 Answer Given:- 1, Option ID : -313

 Question ID:- 80

The newly proposed design of school curriculum is :
(1) 4 + 3 + 4 + 4
(2) 5 + 3 + 3 + 4
(3) 10 + 2 + 2 + 1
(4) 5 + 2 + 3 + 5

faciei4) HlcftlW ^ y +dl!4d 3Tfv|ch<rH TTF t ?
(1) 4 + 3 + 4 + 4
(2) 5 + 3 + 3 + 4
(3) 10 + 2 + 2 + 1
(4) 5 + 2 + 3 + 5

As per RTE Act, 2009 what are the minimum working hours prescribed for a teacher in a week ?
(1) 36
(2) 33
(3) 45
(4) 50

f^TSJT ^ SlffychK SrfaPl'MH, 2009 % <H^|< 3P*MlH =b % Rlk, Rhd'l ^>T4 ^ f =bM,

^f ?
(1) 36
(2) 33
(3) 45
(4) 50

https://applink.adda247.com/d/XhqWf9lSap
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Options:-

.1, Option ID :- 317,

. 2, Option ID :- 318,

. 3, Option ID :- 319,

. 4, Option ID :- 320,
 Answer Given:- 4, Option ID : -320

 Subject : SS_Q81-Q180_KOTGTSS

 Question ID:- 81

with reference to learning.The NCF 2005, suggested
(1) Sports education
(2) Self-reliance and dignity of individual
(3) Inclusive education
(4) Teachers centric to child centric

<1^1-H 3 3fTRTfenT Tt ^ P=h^=hl f^TT "W *JT I

(1) livf 1w
(2) 3Fl H'-lfcl (^HM )

(3) %8JT

(4) 3Î lH <=h %f^cl ^ T̂vl ^> p£c1

French revolution led to :
(i) Uniform laws for all citizens within its territory
(h) Abolition of internal customs and duties
(iii) Uniform systems of weights and measure
(iv) Encouragement of regional dialects
Select the correct answer using the code given below .
Code :
(1) (i), (ii) and (iii)
(2) (iv) only
(3) (iii) and (iv) only
(4) (i) only

https://applink.adda247.com/d/XhqWf9lSap
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Options:-

.1, Option ID :- 321,

. 2, Option ID :- 322,

. 3, Option ID :- 323,

. 4, Option ID :- 324,
 Answer Given:- 1, Option ID : -321

 Question ID:- 82

Options:-

.1, Option ID :- 325,

. 2, Option ID :- 326,

. 3, Option ID :- 327,

. 4, Option ID :- 328,
 Answer Given:- 3, Option ID : -327

 Question ID:- 83

JbMUfl sFflll ^ :

(i) ^-*IFT T? tt?') «JI^ 'IHlR0!^' % ftrU< <rlHM 'hl'^'l I

(ii) 3lidR=h STRRT-Rrafd W<1Wl I

(iii) *1R cT«n ‘dPTd^ I

(iv) ^ ylcUlfed f^RTT I

^^ T̂T '5PftTT Wt ^rR ^fdTT :

W --
(1) (i), (ii) 3% (iii)
(2) %*n?J (iv)
(3) %3cl (iii) 3?R (iv)
(4) %3eT (i)

You are travelling to the areas which had a revolution in 1789, faced storming of Bastille and had
the first clear articulation of Nationalism. In which country are you actually travelling ?
(1) England
(2) Italy
(3) France
(4) Germany

3TN ct̂ T ‘JfT51T WR 1789 sft , PM *) ®ll^i)cl ^>T WF 3?K ‘SfiCf ^ H$dl
SffV^Pto I 31N cil -Wcl ^ ^ it t? ?

(1)
(2)
(3) JFTR

(4)

https://applink.adda247.com/d/XhqWf9lSap
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Options:-

.1, Option ID :- 329,

. 2, Option ID :- 330,

. 3, Option ID :- 331,

. 4, Option ID :- 332,
 Answer Given:- 2, Option ID : -330

 Question ID:- 84

Match List I with List II and select answer using the code given below the lists :
List I List II
(Philosophers)

(A) John Locke
(B) Jean Jacques Rousseau
(C) Montesquieu
(D) Denis Diderot

(Book)
(i) The spirit of the laws
(ii) Two treatise of Government
(iii) Encyclopedia
(iv) Social Contract

(A) (B) (Q (D)
(1) (i) (iii) (iv) (ii)
(2) (ii) (iv) (i) (iii)
(3) (ii) (iv) (iii) (i)
(4) (iv) (iii) (i) (ii)

fjpqql % 1̂ TPTPT Wf ‘ZrR :

^-11

(i) cl R-MRti 3#T c[ effs
(ii) ^Ztel^5t STPT dd -Wi
(iii)
(iv) TITRTpT^ TFJRq

^rfj-l

(A) CTNF
(B)
(C)
(D)

(A) (B) (C) (D)
(1) (i) (iii) (iv) (ii)
(2) (ii) (iv) (i) (iii)
(3) (ii) (iv) (iii) (i)
(4) (iv) (iii) (i) (ii)

Think about following statements and choose the correct answer with the help of given codes.
Statement (I) : Simon Commission was a legal commission which was brought to India to bring

economic reforms.
Statement (II) : All the members of Simon Commission were Britishers.
Code :
(1) Both Statement (I) and Statement (II) are true
(2) Both Statement (I) and Statement (II) are false
(3) Statement (I) is hare but Statement (II) is false
(4) Statement (I) is false but Statement (II) is true

https://applink.adda247.com/d/XhqWf9lSap
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Options:-

.1, Option ID :- 333,

. 2, Option ID :- 334,

. 3, Option ID :- 335,

. 4, Option ID :- 336,
 Answer Given:- 4, Option ID : -336

 Question ID:- 85

Options:-

.1, Option ID :- 337,

. 2, Option ID :- 338,

. 3, Option ID :- 339,

. 4, Option ID :- 340,
 Answer Given:- 1, Option ID : -337

 Question ID:- 86

1TR R^RT! RT fq -ciK R3 afR RR RRR RR R?t "STR RR RRR R$ I

cF8R (I) : WR cbMlVH R =F #̂TRi SHR^T 8TT t̂ Rl RRR 3 fR#R ĴRR^f^TI^% fclR RTTRT RRT RT I

RiSR (II) : WR 'BR'WH 3 RR R^RR 3T^R § I

(1) RiRR (I) 3?R cR8R (II) RRrf Rff f I

(2) RJ8RT (I) 3fR cFS>R (II) Rftf RclR f I

(3) RJ8RT (I) R?t IRR^ RRUR (II) RRR 11
(4) ^SR (I) RRcf t RR§ RiSRT (II) R?t 11

Consider the following statements regarding Dandi March and choose the correct answer with
the help of the code :
Statement (I) : This March was done from Dandi to Sabarmati Coast.
Statement (II) : The civil disobedience movement started with the Dandi March.
Code :
(1) Both Statement (I) and Statement (II) are correct
(2) Both Statement (I) and Statement (II) are false
(3) Statement (I) is true but Statement (II) is false
(4) Statement (I) is false but Statement (II) is true

RT^ % RRR 31RR RR f̂f TR fRRR R$ 3fk fiS R?) RR?3R# 3TR RiT ^TTR R^
R>8R (I) : RtT RT^ RTS) ^ RTRTRRt CR RR> fRTRI RRTI

RiSR (II) : RfRRR 3TRfT RTRteR RTf ‘SJ ŜUR RTS^ Rr4 ^^ I

W :

(1) Ri8R (I) 3?k RiSR (II) RRf R# tl
(2) R52R (I) 3fR cF8R (II) RRR f I

(3) RiSR (I) % RRJ RiSR (II) RRri 11
(4) RRRT (I) RRR t RRg Ri«R (II) R# tl

https://applink.adda247.com/d/XhqWf9lSap
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Options:-

.1, Option ID :- 341,

. 2, Option ID :- 342,

. 3, Option ID :- 343,

. 4, Option ID :- 344,
 Answer Given:- 1, Option ID : -341

 Question ID:- 87

Below are two statements, one of them is Assertion (A) and the other is Reason (R). Find the
correct answer with the help of given codes.
Assertion (A) : Gandhiji participated in Second Round Table conference.
Reason (R) :
Code :
(1) (A) and (R) both are true and (R) is the correct explanation of (A)
(2) (A) and (R) both are true but (R) is not the correct explanation of (A)
(3) (A) is true but (R) is false
(4) (A) is false but (R) is true

Gandhi-Irwin Pact was done on 5 March, 1931.

TNI eft f^q; TJII f i arf̂ spr ( A) WRT (R) HHT % i f^q; i|q; URT w) TTR

3lfij^j2FT (A) : H fSdlH -•TterlA.'jf "*¥ HR fd^ l I

chRUI (R) : 5 1931 ^F?f fdrMl FRT I

(1) 3TfHTcF?PT (A) 3?P3TRT (R) 1# t 3^R (R) , (A) Tf# T̂TWn 11
(2) 3lftlcF«R (A) 3fkgJTRT (R) f -qtg (R) , (A)

(3) 3TfacF2R (A) P# t HTAJ WRT (R) HUcT 11
(4) 3THl̂ >8R (A) Hcffl % oFTTR (R) % I

Consider the following statements about Poona pact and choose the correct option.
Statement (I) : This pact was made between Mahatma Gandhi and Dr. Ambedkar in 1932.
Statement (II) : Under this pact, separate electorates were arranged for the Depressed classes in

the Provincial and Central legislative councils.
(1) Both Statement (I) and Statement (II) are true.
(2) Both Statement (I) and Statement (II) are false.
(3) Statement (I) is true but Statement (II) is false.
(4) Statement (I) is false but Statement (II) is true.

https://applink.adda247.com/d/XhqWf9lSap
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Options:-

.1, Option ID :- 345,

. 2, Option ID :- 346,

. 3, Option ID :- 347,

. 4, Option ID :- 348,
 Answer Given:- 1, Option ID : -345

 Question ID:- 88

Options:-

.1, Option ID :- 349,

. 2, Option ID :- 350,

. 3, Option ID :- 351,

. 4, Option ID :- 352,

’JjTT 3 Pl*-1 ’’TT f =t3K ^ 3^ *1$ fa'frC'H ^> T ^uq ^ I

cF8R (I) : 3TC^T %^1932^13̂ ^ 1

ŜR (II) : Î4d % d£d yIcft -M^ MRt|< 3 dPrfd T̂f % fdQ,
"Prat̂ R odd -WT ^I

(1) ^SR (I) 3?k F̂?R (II) -^RT 11
(2) efiSR (I) 3?K cF8R (II) tfrff TMcT f I

(3) F̂2R (I) W\|^ «̂R (II) 7Tc'fcT 11
(4) <*T8R (I) TMcT t^^8TT (II)^tl

Arrange the following in chronological order :
(a) Champaran Satyagraha
(b) Kheda Satyagraha
(c) Ahmedabad Cotton mill Satyagraha
(d) Mahatma Gandhi returnes to India from South Africa
Choose the correct answer from the option given below.

(1) (b), (d) , (c) , (a)
(2) (d), (a), (b) , (c)
(3) (d), (b), (a) , (c)
(4) (d), (a), (c) , (b)

PIHRIRSICI ^ «tqR*R ^ I

(a) 'iMK'i
(b) #§[ TIRHIf?

(c) 3t£ M<MK WTBTf?

(d) MSIcHl "TT^ 3T5F)OBT ^ *1TR ^TpRT 3TP3T

f^o;^fadiWi 3 wf ^TR -^PUJ, i

(1) (b), (d) , (c) , (a)
(2) (d), (a), (b) , (c)
(3) (d), (b), (a) , (c)
(4) (d), (a), (c) , (b)

https://applink.adda247.com/d/XhqWf9lSap
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 Answer Given:- 2, Option ID : -350

 Question ID:- 89

Options:-

.1, Option ID :- 353,

. 2, Option ID :- 354,

. 3, Option ID :- 355,

. 4, Option ID :- 356,
 Answer Given:- 2, Option ID : -354

 Question ID:- 90

Consider the following statements regarding the impact of first world war on India.
(i) It led to a huge increase in defence expenditure
(h) Through the war years prices remained stable
(iii) Indian soldiers were recruited into the army by the process of forced recruitment
Which of the following statements given below is/are correct ?

(1) (i) and (ii)
(2) (i) and (iii)
(3) (ii) and (iii)
(4) (ii) only

UMR facts' *[RcT xp ipgpf UMrat % PtnRrlRad RT I

(i)
(ii) 3R* % Rff sblnd f?SR I

(iii) 'stoK’i Miff Rff SjfsbRl gRT RUdl-M R-HIBRT Rit ^Hl Miff fRvRT MRTI

dH<leK1 3^ R>*R Wt % ?

(1) «*(U)
(2) (i) ate (iii)
(3) (ii) ate (iii)
(4) (ii)

Consider the following statements about colonialism in India.
Statement (I) : Each social class and group felt the effects of colonialism equally.
Statement (II) : The notion of freedom were not always the same for each class and group.
Which of the following statement given below is/are correct ?
(1) Both Statement (I) and Statement (II) are true
(2) Both Statement (I) and Statement (II) are false
(3) Statement (I) is true but Statement (II) is false
(4) Statement (I) is false but statement (II) is true

https://applink.adda247.com/d/XhqWf9lSap
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Options:-

.1, Option ID :- 357,

. 2, Option ID :- 358,

. 3, Option ID :- 359,

. 4, Option ID :- 360,
 Answer Given:- 4, Option ID : -360

 Question ID:- 91

Options:-

.1, Option ID :- 361,

. 2, Option ID :- 362,

. 3, Option ID :- 363,

. 4, Option ID :- 364,
 Answer Given:- 2, Option ID : -362

 Question ID:- 92

*JTRT 3 3 PinRiRad =f>8Rt’ TR iq^K wt i

CF8R (I) : ?E ’HIHlp3t'=t> 3#tT TR dHpl^^iqiq T̂I 3RR^^JT «TT I

cR2R (II) : <*yfH^I STRleRf *f •Wd'^dl % Hi4!') 1R oRf 3fo TF[i?% fdQ. f^5f % I

3*H <l=kl if if '3ifa-W3Rfa-if v̂SH Wf %/% ?

(1) oFSR (I) sfa eFSFT (II) R# f I

(2) ^8FT (I) 3?R cfi«R (II) <^T TM3 f I

(3) <S2RT (I) Rf)|TRRJ RJSPT (II) RefcT 11
(4) ^JSPT (I) R<?ET t RTOR (II) R# tl

Which of the following statements about Balkans region is/are correct ?
(i) The Balkans is a region located in nothern Europe.

(ii) The inhabitants of the region are called Slavs
(iii) The region is noted for its geographical and ethnic variation.

(1) (i) and (ii)
(2) (ii) and (iii)
(3) (i) only
(4) (iii) only

q|<rdH % RR*T Tfif Fl^RdRsd r̂tf TR fqqi< I fR*)' Tl '^T-RT/^T-'^ R?t %/f ?
(i) ®H <r=M ‘3rRt R f̂REi 1? 1

(ii) fR % FleilfM^TRTR J(=bKl T̂TcTT «TT I

(iii) RF V̂liPel'h 3^R 'Jlldlq fRRcTT % PTR yP*Ho& RT I

(1) (o*(ii)
(2) (ii) (iii)
(3) %̂ T (i)
(4) (iii)
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Options:-

.1, Option ID :- 365,

. 2, Option ID :- 366,

. 3, Option ID :- 367,

. 4, Option ID :- 368,
 Answer Given:- 4, Option ID : -368

 Question ID:- 93

Given below are two statements; one is labelled as Assertion (A) and the other is labelled as
Reason (R).
Assertion (A) : European Artists in the eighteenth and nineteenth centuries portrayed nation as

male figures.
Reason (R) :
(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(3) (A) is true but (R) is false
(4) (A) is false but (R) is true

Artists personified the nation in the above period.

eft c) cfcio4|f5[tT 71XT i|I TTcf7 (A) '3i|?T RE % Rt chl <ui (R) rpjf %|

(A) : 3T3R?N¥ ^B RETIRE!^ BR Bft 'gRT BE 3BBJE tRET I

ehlhJI (R) : RTEI ^ BE HHqlRtul fRBT I

<5M < I'=K1 BETI RB-ft % ET?*! fBR Ef BTET-BT Bift % ?

(1) (A) 3?R (R) BElfB#f BR (R) , (A) RtBFt q̂psqrfi

(2) (A) #T (R) BEffB# fBBI (R) , (A) RtBSt ĵpojnBfftl
(3) (A) BStfBBg (R) BEEftl
(4) (A) TMcTt -q^(R) B#|l

Given below are two statements;one is labelled as Assertion (A) and the other is labelled as Reason
(R).
Assertion (A) : The formation of 'United Kingdom of Great Britain' happened in 1707.
Reason (R) :
In the context of the above statements, which of the following is correct ?
(1) (A) and (R) both are true and (R) is the correct explanation of (A)
(2) (A) and (R) both are true but (R) is not the correct explanation of (A)
(3) (A) is true but (R) is false
(4) (A) is false but (R) is true

An 'Act of Union' came into effect between England and Scotland.

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


Options:-

.1, Option ID :- 369,

. 2, Option ID :- 370,

. 3, Option ID :- 371,

. 4, Option ID :- 372,
 Answer Given:- 1, Option ID : -369

 Question ID:- 94

Options:-

.1, Option ID :- 373,

. 2, Option ID :- 374,

. 3, Option ID :- 375,

f̂NI eft qcKloM ^f I ^oRt 3rf̂ > 8R (A) 3fR ^ilM (R)^T W % I

3Tf̂ 8H (A) : ' fW>JSH 31Ph ife fd <H ’ îT Jlc5*1 1707 *f fv3TT |

3f(l fcf,Td(^4 % '#3‘^0(2 3TFF VTPTI iPTTIT̂ROT (R) :

<JM<1‘=K1 cRrTsqf % "*??*} if f^FTfM R̂T3 1#f I

(1) (A) #t (R)^t^f 3fR (R) , (A)^^ n̂̂ n r̂sTti
(2) (A) (R) #ff^t'Rtg (R) , (A) ^OMK2MI 11
(3) (A) (R) TMtftl
(4) (A) Wft l̂̂ KR)^|l

Which of the following historical figures contributed to the unification of Italy:
(i) Giuseppe Mazzini
(ii) Cavour
(iii) Garibaldi
(iv) Louis Phillippe
Code :
(1) (i), (ii), (iv)
(2) (i), (iii), (iv)
(3) (ii), (iii), (iv)
(4) (i), (ii), (iii)

PIHRIRSO 3 Lf f^T ^fdeiRl =b <>Mf =k1 "£f «TT I

(i) AR-ml
(ii) ^(iii) '1< NT<r4l
(iv) oj|*t F’-hfdH

(1) (i), (ii), (iv)
(2) (i), (iii), (iv)
(3) (ii), (iii), (iv)
(4) (i), (ii), (iii)

https://applink.adda247.com/d/XhqWf9lSap
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. 4, Option ID :- 376,
 Answer Given:- 4, Option ID : -376

 Question ID:- 95

Options:-

.1, Option ID :- 377,

. 2, Option ID :- 378,

. 3, Option ID :- 379,

. 4, Option ID :- 380,
 Answer Given:- 1, Option ID : -377

 Question ID:- 96

Given below are two statements :
Statement (I) : Zollverein was a customs union of the German people, which was formed in

1834 at the initiative of Prussia.
Statement (II) : The aim of the Zollverein was to promote economic nationalism in Germany.
In light of the above statements, choose the correct answer from the option given below :
(1) Both Statement (I) and Statement (II) are correct
(2) Both Statement (I) and Statement (II) are incorrect
(3) Statement (I) is correct but Statement (II) is incorrect
(4) Statement (I) is incorrect but Statement (II) is correct

RHI eft TTIT f I

cF8R (I) : vffttf F̂iT TRi ®IT fMt 1834 *¥ 3T?n TScrt TSftfftcT TRTI

(II) : % RcH -H^Hl ^ TfGSqT?^ ylcoifed T̂RT ?TTI

RHt fSftl TT fqchcrMl 3^ Tf?) "3rR P̂R^|

(1) ŜR (I) cF«R (II) fl
(2) ŜR (I) ŜR (II) BRR f I

(3) <HSR (I) t Wg^SR (II) TjeR 11
(4) ^$R (I) RRcf t^cfiSR (II) W\11

Given below are two statements :
Statement (I) : For the new middle class, liberalism stood for the freedom for the individual and

equality of all before the law in 19th century Europe.
Statement (II) : Liberalism emphasised the concept of autocracy and clerical privileges.
In light of the above statements, choose the most appropriate answer from the options given
below :
(1) Both Statement (I) and Statement (II) are correct
(2) Both Statement (I) and Statement (II) are incorrect
(3) Statement (I) is correct but Statement (II) is incorrect
(4) Statement (I) is incorrect but Statement (II) is correct

https://applink.adda247.com/d/XhqWf9lSap
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Options:-

.1, Option ID :- 381,

. 2, Option ID :- 382,

. 3, Option ID :- 383,

. 4, Option ID :- 384,
 Answer Given:- 3, Option ID : -383

 Question ID:- 97

Options:-

.1, Option ID :- 385,

. 2, Option ID :- 386,

. 3, Option ID :- 387,

. 4, Option ID :- 388,
 Answer Given:- 1, Option ID : -385

 Question ID:- 98

41^ eft I

cF8R (I) : ^ ^%> 19 Wf Tl^i ^Pl 3 <jqi <qiq ^>T Held®! «TI oq^KI %1cH?; 3TM^t 3fft ^jpJfT %
H <joa flHHdl I

^>SR (II) : <5<;kc||<; PKJ^I ^ll-Hcb 3?R ^Pf % fc|$|qifaqFRt =fft Wq^T ^FT ‘qSJER SIT I

<JH <1=K1 ch*^ % fa'bvHl f̂ Heft "STR T̂ ^BR ^ I

(1) cFSflFT (I) #C cFSFT (II) ^Rf TT# f I

(2) CFSFT (I) 3tl cF«R (II) TRctfl
(3) ^STT (I) Tm ITRJ oR8R (II) TRcT 11
(4) CFSFT (I) -rwft f -q^ <E8FT (II) W\11

Consider the following statements and choose the correct option.
Statement (I) : Revolution of July 1830 installed a constitutional monarchy in France.
Statement (II) : The Bourbon Kings had been restored to power after July 1830 revolution.
(1) Both Statement (I) and Statement (II) are true.
(2) Both Statement (I) and Statement (II) are false.
(3) Statement (I) is true but Statement (II) are false.
(4) Statement (I) is false but Statement (II) is true.

PIHICIRSICI ^Ffi 'qi iq^K =b) faq, sflT wt faq-xrq I
"3F8R (I) : 1830 =Ft JbWM Mr! % WRl 3^TTf^RT TPSRR =Ft WRT =Ft I

(II) : 1830^ JW 'HI'HI Wife! % TRPi!^TbTT 'JR̂ lff^TcT f^RT I

(1) (I) afo cRSR (II) ^f 1

(2) cF8PT (I) affc oF&R (II) TRcf f I

(3) ^SR (I) ^|-qiRJ efiSR (II) f|
(4) ^) 2FT (I) TMcT t TF3 *FSR (II) W\11

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


Options:-

.1, Option ID :- 389,

. 2, Option ID :- 390,

. 3, Option ID :- 391,

. 4, Option ID :- 392,
 Answer Given:- 1, Option ID : -389

 Question ID:- 99

In which of the following cities was the Khilafat committee formed ?
(1) Calcutta
(2) Delhi
(3) Patna
(4) Bombay

PiHPelfed 3 feRT Rad I md ^Rlld ^)T 7T3:T "W ®TT ?
(1) aidcbTti

(2) Pdcrfl
(3)
(4)

Consider the following pairs :
Historical Events

(i) Convocation of Estates General
(ii) France becomes a republic
(iii) Napoleon got defeated at Waterloo
Which of the pairs given above is/are correctly matched ?
(1) (i) and (ii)
(2) (ii) only
(3) (i) and (iii)
(4) (iii) only

Important Dates
1791
1792
1816

RinRiRad "ypf "91 ^I

( OJd ^l!*!<*, UidliP ) ( idlyill )

(i) <sH <.d 1791

(ii) IfjRT «BT 'luK (̂ rq oRdl

(iii) ^HlRrMd^¥R

<JM <)ad P '9IN-'RT Wl y^fdd t ?

1792

1816

(1) (i) (ii)
(2) (ii)
(3) (i) 3fR (iii)
(4) %cfcT (iii)

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


Options:-

.1, Option ID :- 393,

. 2, Option ID :- 394,

. 3, Option ID :- 395,

. 4, Option ID :- 396,
 Answer Given:- 1, Option ID : -393

 Question ID:- 100

Options:-

.1, Option ID :- 397,

. 2, Option ID :- 398,

. 3, Option ID :- 399,

. 4, Option ID :- 400,
 Answer Given:- 1, Option ID : -397

 Question ID:- 101

Given below are two statements :
Statement (I) : Liberalism was some of the important political tradition of Nineteenth Century,

which opposed the uncontrolled power of dynastic rulers and advocated equality
of all religions.

Statement (II) : Liberalism opposed the privileges of great land owners and wealthy
factory owners.

In the light of above statements. Choose the correct answer from the option given below.
(1) Both Statement (I) and Statement (II) are true
(2) Both Statement (I) and Statement (II) are false
(3) Statement (I) is true, but Statement (II) is false
(4) Statement (I) is false, but Statement (II) is true

41^ eft ^> ®R fecn^ W i

cf)8R (I) : 1̂^41 yRTT^t % iM'flRl'fc URT qT feFFf STiqiRd

fern fen nsn trsf %

^> 2R (II) : ®Rj M|Hi‘q|<) 3?K RSjfefeff ¥RT feflt ’ft cP0!F % fetnifeiRt % ffeTFF ^TTI

•iH <lcK1 R̂f % "SR*!*¥ fe^f̂ T "Sf f̂eft =Fvt I

(1) cfiSR (I) cF«R (II) ^Rf f I

(2) ĴSR (I) 3^ cF«R (II) ^Rf nRcl 11
(3) ^SR (i) jmIRRJ <??5>R (ii) 11
(4) CF8R (I) nRct f nRJ^SR (II) W\f I

4-IHHdl ct+Md f̂t I

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


Options:-

.1, Option ID :- 401,

. 2, Option ID :- 402,

. 3, Option ID :- 403,

. 4, Option ID :- 404,
 Answer Given:- 3, Option ID : -403

 Question ID:- 102

Think about the following statements related to Non-Cooperation Movement and choose the correct
answer from given options.
Statement (I) : This was the first movement for attaining Swaraj (Self-rule).
Statement (II) : This movement opposed Khilafat Movement.
(1) Both Statement (I) and Statement (II) are true.
(2) Both Statement (I) and Statement (II) are false.
(3) Statement (I) is true, but Statement (II) is false.
(4) Statement (I) is false, but Statement (II) is true.

SffcjteH % 3 PinfciRad =F>«Rf RT ^ TT fqehdil 1̂ TRR RT I

^8R (I) : ^WR % W R?RT 3ii<1crH «U I

îSR (II) : SilVldi % Rsld I Hid I

(1) ŜR (I) cR8R (II) ^11
(2) CFSR (I) 3?k qFSR (II) ^Rf RRcT f I

(3) ^$R (I) Wf IRRJ f̂iSR (II) RrR t 1

(4) ^8R (I) RcR t TRJ^8R (II) Wt 11

Consider the following statements about Maasai communities and select the correct answer using
the code below :
Statement (I) : Maasai are traditionally nomadic and pastoral people.
Statement (II) : They live primarily in west Africa with high rainfall.
(1) Both Statement (I) and Statement (II) are true.
(2) Both Statement (I) and Statement (II) are false.
(3) Statement (I) is true, but Statement (II) is false.
(4) Statement (I) is false, but Statement (II) is true.

"if 'RR RjSR^ 3?R RiT TRR RR Wt RrR

cF8R (I) : MUHls? RIWIcT ^ 3fR f |

^>8R (II) : Rff Rfwft STSFRFT % RRT RTrf Sfa 3T?cf 11
(1) ^SR (I) ef >8R (II) ^PTf Rft f I

(2) ^SR (I) #1 cF«R (II) RRf RRcf f I

(3) ^HSR (I) m\ t ^ISR (II) RRct 11
(4) RiSR (I) RcR t RTR, eF8R (II) 11

:

https://applink.adda247.com/d/XhqWf9lSap
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Options:-

.1, Option ID :- 405,

. 2, Option ID :- 406,

. 3, Option ID :- 407,

. 4, Option ID :- 408,
 Answer Given:- 3, Option ID : -407

 Question ID:- 103

Options:-

.1, Option ID :- 409,

. 2, Option ID :- 410,

. 3, Option ID :- 411,

. 4, Option ID :- 412,
 Answer Given:- 4, Option ID : -412

 Question ID:- 104

Consider the following statements about socialist society and select the correct answer using the
code below.
(i) It promotes nationalization of banks and Industries.
(ii) It believes in centralised planning.
(iii) It promotes private property and profits.
(1) Only (i) is true
(2) Only (i) and (ii) are true
(3) Only (iii) is true
(4) (i), (ii) and (iii) are true

if RnRlRdd f^R ^ TR RNI TT?f "3rR -'jRk, :

(i) Rl? 3?R % TIRRRRTT ^1 M6I3I ^TT 11
(ii) R? ohcO^d if faVdW ^RrlT % I

(iii) R?Rrsft 3fr[ ^CIT % I

*fH& 1RT RT if R?) '3rR Rit :

(1) (i) 11
(2) (i) afa (ii) t̂ %|
(3) (iii) 11
(4) (i), (ii) aflR (iii) Wttl

The river Indrawati flows east to west. Maria, Dhurwas and Halbas communities live here. The
central part is a plateau and to its south is the Godavari plain. The name of the place is :
(1) Bastar
(2) Nagpur
(3) Raipur
(4) RajnandGaon

https://applink.adda247.com/d/XhqWf9lSap
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Options:-

.1, Option ID :- 413,

. 2, Option ID :- 414,

. 3, Option ID :- 415,

. 4, Option ID :- 416,
 Answer Given:- 4, Option ID : -416

 Question ID:- 105

Options:-

.1, Option ID :- 417,

. 2, Option ID :- 418,

. 3, Option ID :- 419,

. 4, Option ID :- 420,
 Answer Given:- 3, Option ID : -419

^ ^ HfVdH % I w HR MI, ^̂ 1, snf^ 3RF7 Sflf^RTt RldKH f I
5^=hl %^T 'HFT R3R) % 3?R 3 'ikwA ^7T % I fFT W7T HTR % :

(1) ĉR

(2) BFT^(3) W£
(4) u M̂'Vih

Who among the following was/were socialist thinker
(i) Robert Owen
(ii) Louis Blanc
(iii) Friedrich Engels
(iv) Adam Smith
Select the correct answer using the code given :
(1) (i), (ii) and (iii)
(2) (iii) and (iv) only
(3) (i), (ii) and (iv)
(4) (iii) only

RIHIVIRSCI oRfa fcMR4> ^?
(i) 3?|^H

(ii) ^(iii) M,JV*7

(iv) T^fWT

^7T TRTRT ‘ l̂lt "STR ^RTXT :

®dl4i

(1) (i), (ii) 3?R (iii)
(2) (iii) 3fR (iv)
(3) (i), (ii) 3fR (iv)
(4) %cfF (iii)

https://applink.adda247.com/d/XhqWf9lSap
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 Question ID:- 106

Options:-

.1, Option ID :- 421,

. 2, Option ID :- 422,

. 3, Option ID :- 423,

. 4, Option ID :- 424,
 Answer Given:- 1, Option ID : -421

 Question ID:- 107

Options:-

The Consumer Protection Act 1986 ensures following rights to consumers in India.
(i) Right to choice
(ii) Right to safety
(iii) Right to equality
(iv) Right to privacy

(1) (i) and (ii)
(2) (ii) and (iii)
(3) (iii) and (iv)
(4) (i) and (iv)

STfqf'l'MH, 1986 TTHl<=K1l3li Pin "5RH =Mdl 1? :

(i) TR =FT

(ii) 3feR
(iii) TFTFRTT F̂T 3Tf?4 =hK

(iv) Pl'JKll ^>T

(1) (i) (ii)
(2) (ii) (Hi)
(3) (iii) 3fR (iv)
(4) (i) 3fR (iv)

Markets will not work in a fair manner if :
(1) Producers are many
(2) Producers are not powerful
(3) Consumers purchase in small amount
(4) True information is passed to consumers

®iMK Tfef rR!% Tf ^
(1) ^f I

(2) 5>lf k̂l!iflldl Rsff Ftcf I

(3) 'FPtfcRTT RTF! I

(4) TTFt '4Hehl<) ‘SfRft % I

https://applink.adda247.com/d/XhqWf9lSap
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.1, Option ID :- 425,

. 2, Option ID :- 426,

. 3, Option ID :- 427,

. 4, Option ID :- 428,
 Answer Given:- 1, Option ID : -425

 Question ID:- 108

Options:-

.1, Option ID :- 429,

. 2, Option ID :- 430,

. 3, Option ID :- 431,

. 4, Option ID :- 432,
 Answer Given:- 3, Option ID : -431

 Question ID:- 109

Given below are two statements. Choose the correct option from below :
Statement (I) : MNCs have been a major force in the globalisation process connecting distant

regions of the world.
Statement (II) : Integration of production and integration of markets is a key idea behind

understanding the process of globalisation and its impact.
(1) Both Statement (I) and Statement (II) are true
(2) Both Statement (I) and Statement (II) are false
(3) Statement (I) is true but Statement (II) is false
(4) Statement (I) is false but Statement (II) is true

RH) eft % I ^ ^ wt :

^> SR (I) : MFTf 4*41«MUI^ HfstvMl if =hHpl4i 11
^SR (II) :«cb< u, yfsb'Ml 3|fa ®lTi5TR ^

H$Rguf % l

^2R (I) 3?ft ^8R (II) ^Tf Tl# f I

cF2R (I) cfiSR (II) ^Rf TMcf 11
^T8R (I) | ^8R (II) RRcT11
cF> 2R (i) RRct f irrg ^>SR (ii) w( 11

(i)

(2)
(3)
(4)

Given below are two statements. Choose the correct option from below :
Statement (I) : The Reserve Bank of India supervises the functioning of formal sources of loans.
Statement (II) : Compared to the informal lenders, most of the formal lenders charge a much

higher interest on loans.
(1) Both Statement (I) and Statement (II) are true
(2) Both Statement (I) and Statement (II) are false
(3) Statement (I) is true but Statement (II) is false
(4) Statement (I) is false but Statement (II) is true

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
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Options:-

.1, Option ID :- 433,

. 2, Option ID :- 434,

. 3, Option ID :- 435,

. 4, Option ID :- 436,
 Answer Given:- 1, Option ID : -433

 Question ID:- 110

Options:-

.1, Option ID :- 437,

. 2, Option ID :- 438,

. 3, Option ID :- 439,

. 4, Option ID :- 440,
 Answer Given:- 1, Option ID : -437

4)4 eft f^TT TJII % I f^IT 7JTT qcKlo’i'l if ^^$1 iqq,(vq ^)T " R̂ :

ŜR (I) : MRcffa fet4 ®l =h % 3?|H -cjlR «=h •tfldft^ =t> l4yullell fR 'IJJK «sldl % I

^iSR (II) : 3})H^|R <*> 3te«l <;idl3ff f̂t eJRRl $ 34HlM^lR=h %5Ri % ^igcK ^igcll 3Tf?R7 ^TF5f ^RJR ^Rtt
f l

eftSR (I) 3fk RESR (II) <frff Rt# fl
cfRR (I) afa cFSTT (II) <frft ^TRcT f I

cFSSR (I) Rft t RRJ eFSPT (II) TJ^RT 11
eFSR (I) RcTcf t fFRJ cR>R (II) Rtf)11

(1)
(2)
(3)

(4)

Given below are two statements. Choose the correct option :
Statement (I) : Collateral is an asset that the borrower owns (such as land, building, vehicle,

livestocks, deposits with banks) and uses this as a guarantee to a lender until the
loan is repaid.

Statement (II) : If the borrower fails to repay the loan, the lender has the right to sell the asset or
collateral to obtain payment

(1) Both Statement (I) and Statement (II) are true
(2) Both Statement (I) and Statement (II) are false
(3) Statement (I) is true but Statement (II) is false
(4) Statement (I) is false but Statement (II) is true

4)4 eft ^T«R f^r RTT % I «H$| facfcc'H '^R :

^> 2R (I) : qjUnfcfp ft,4) RRf% ft, =h.4c;K ]? ( $M K d, dlf ) , ®Nft 4 )
3?tR S-Hcbl $KlHlvt °tf RRlKgdl f̂t 'life) 44%1^4 <*Rdl %, "3R cR> f%fi0! îl ^JldM Rff ft '3TRTII

3T8FT (II) : WTRt Rff fRI, eft ^K^ldl %t ^IdM "RtfR % fRt( HRI 'RI RR8f^ q^i^IR
4-d4 3tf*R>R ftrtl % l

(1) cFS!R (I) 3ftR efi8R (II) %4t' wt fl
(2) cFRR (I) <?RR (II) %4t RRcT f I

(3) ^2R (I) RTft|Wg (II) 11
(4) RfSR (I) RcR t ^SR (II) Wt 11

https://applink.adda247.com/d/XhqWf9lSap
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 Question ID:- 111

Options:-

.1, Option ID :- 441,

. 2, Option ID :- 442,

. 3, Option ID :- 443,

. 4, Option ID :- 444,
 Answer Given:- 1, Option ID : -441

 Question ID:- 112

Given below are two statements, One is labelled
Reason (R).

Assertion (A) and the other is labelled as

Assertion (A) : Modem currency is accepted as a medium of exchange.
Reason (R) : It is accepted as a meduim of exchange because the currency is authorised by the

government of the country.
In the light of the above statements, choose the most appropriate answer from the options given
below :
(1) Both (A) and (R) are correct and (R) is the correct explanation of (A).
(2) Both (A) and (R) are correct, but (R) is not the correct explanation of (A).
(3) (A) is correct but (R) is not correct.
(4) (A) is not correct but (R) is correct.

eft t^T!TJIT TT^i (A) cbKUl (R) =b$l "W1? I

(A) : "gST MW % HI^H % if *41<=bl< ^̂ FTcTT % I

eFTTtJT (R) : fif faPHH <4 ^>T RT*ZR ^PdQ, w)«f > R f^FRT WRIT f >, cWTPh f^RTt fit
«h<dl % I

^^ P**^ if ^ <SH^=K1 ~5TK ^PH ÎPJIM, I

(1) (A) (R) R# t 3flT (R), (A) ^ «cfRcTT f I

(2) (A) 3k (R) ^Rf ^tfTR3 (R), (A) 11
(3) (A) RftfRRJ (R) TTcTcT % l

(4) (A) -neTcft^ fR)

Given below are two statements about modern forms of money. Read them carefully and choose
the correct answer from given options :
Statement (I) : It is not made up of precious metals.
Statement (II) : It is of use on its own.
(1) Both Statement (I) and Statement (II) are true
(2) Both Statement (I) and Statement (II) are false
(3) Statement (I) is hue but Statement (II) is false
(4) Statement (I) is false but Statement (II) is hue

https://applink.adda247.com/d/XhqWf9lSap
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Options:-

.1, Option ID :- 445,

. 2, Option ID :- 446,

. 3, Option ID :- 447,

. 4, Option ID :- 448,
 Answer Given:- 3, Option ID : -447

 Question ID:- 113

Options:-

.1, Option ID :- 449,

. 2, Option ID :- 450,

. 3, Option ID :- 451,

. 4, Option ID :- 452,
 Answer Given:- 2, Option ID : -450

 Question ID:- 114

% ‘SR** fa*^f I T̂FT ^Bf 3?k fa* fl* fa =hrHf 3^Tfa ^>1 "jpR^I

^jSR (I) : ^RT ®i§*j<r^ ^3^ Tf ®fa ^tcft I

îSR (II) :^sfaf 3TN *f R̂faM^ifat % I

(1) cR2R (I) 3fk cF«FT (II) faff Wt f I

(2) cR8R (I) 3?fc 3P«R (II) fait *McI f I

(3) ^?R (I) #|W1 (II) *M?T 11
(4) <*8R (I) *TcR t TR} <S8R (II) *fatl

Given below are two statements, one is labelled as Assertion (A) and the other is labelled as
Reason (R) .

Assertion (A) : A large number of workers are forced to enter the unorganised sector jobs.

Reason (R) : The employment opportunities in the organised sector have been expanding very
slowly.

In the light of the above statements, choose the correct answer from the options given below :
(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is not the correct explanation of (A)
(3) (A) is true but (R) is false
(4) (A) is false but (R) is true

eft 'gjSpT fa* Tpr f | TT^T 3TftR>2R (A) 3?R chi <iil (R) '3RST RTF % I

3lf^R78R (A) : -HOMI StH-Icbl 3R-Hfed Hlfafeiil *¥ *SIT^% tfa fan f̂TcTf % I

cbHUI (R) : 4-Hlfed 3 % 3R*R ®TgrT it 11
% 3iici|ch fa?; R* ^Tf?) '3TR ^5T ^|

(1) (A) #t (R) ^ff^f 3fa (R) , (A) t̂^t T̂T̂ Tl R̂Ttl
(2) (A) 3?R (R)^Tf #̂ tT(3 (R) 1 (A) Will
(3) (A) (R) TTemtl
(4) (A) 7Mcf % *TRJ (R) TR?t % I

https://applink.adda247.com/d/XhqWf9lSap
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Options:-

.1, Option ID :- 453,

. 2, Option ID :- 454,

. 3, Option ID :- 455,

. 4, Option ID :- 456,
 Answer Given:- 4, Option ID : -456

 Question ID:- 115

Arrange the sectors in descending order in its contribution to the GDP.
(i) Primary sector
(h) Secondary sector
(iii) Tertiary sector

(1) Primary>Secondary>Tertiary
(2) Secondary>Primary>Tertiary
(3) Secondary>Tertiary>Primary
(4) Tertiary>Secondary>Primary

% if ^1% % 3PJ33K 3HC|<1^1 if

[gdl'M'h

:

(i)
(H)
(iii)

> rscfl *4 =b > <3dl -M =h
fsdh=b > > qflk <=b
fsnl'H'h > qdl'M'b >

gdl ’H'h > Isdl -Mct) >

(1)
(2)
(3)
(4)

Given below are two statements :
Statement (I) : The activities in tertiary sector help in the development of the Primary and

Secondary sectors.
Statement (II) : These activities, by themselves, do not produce goods but they are an aid or a

support to the production process.
In light of the above statements, choose the correct answer from the options given below :
(1) Both Statement (I) and Statement (II) are true
(2) Both Statement (I) and Statement (II) are false
(3) Statement (I) is true but Statement (II) is false
(4) Statement (I) is false but Statement (II) is true

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


Options:-

.1, Option ID :- 457,

. 2, Option ID :- 458,

. 3, Option ID :- 459,

. 4, Option ID :- 460,
 Answer Given:- 1, Option ID : -457

 Question ID:- 116

Options:-

.1, Option ID :- 461,

. 2, Option ID :- 462,

. 3, Option ID :- 463,

. 4, Option ID :- 464,
 Answer Given:- 1, Option ID : -461

 Question ID:- 117

RNI eft Ti«H TIJ % :

cF2R (I) : gcfaeF $)pfT> T?t CdfafaTI ‘SnsrffcRT 3?R Igdl'H't) %TTT % fTTiRT T-f H« <*><d1 % I

cFSR (II) : $TMrfTTf T-TT: TRg3lf T>T <irMKH Riff TPTf f, Tier'll cSrMKH-^Fsh^ l f̂ W'Tt7!Tl ‘R1^ TTRlt 11
<JM <1<=K1 TvTR % 3llerft <li "£)’ 4)4 f^T Rtr fTTirni 4' 4) Sift 3TK TiT

(1) -eFSR (I) 5FSR (II) 4Hf S?t f I

(2) TJSR (I) 3fk cf)«R (II) ^Rf RRR f I

(3) ^8PT (I) SStl^efcSPT (II) RRRtl
(4) TSSIR (I) RRR t Rsg Si$JR (II) Wt % I

'hlfaQ,STR

Human Development Report is Published by :
(1) UNDP (United Nation Development Programme)
(2) WTO ( World Trade Organisation)
(3) WHO (World Health Organisation)
(4) World Bank

gTCT HdilRld Tit TTcft HIHUT iqchm RM)£
(1) <H^<=W <1^ iTTiRT «bl4st> H ( ĴTpbSt.Rt. )

(2) f4^T °MHR 'HRCJH ( 4®c^.^t.'3lt.)

(3) fTTT SRRR CS5RSJ.TTT.3it. )

(4) fT?T oRi'

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


Options:-

.1, Option ID :- 465,

. 2, Option ID :- 466,

. 3, Option ID :- 467,

. 4, Option ID :- 468,
 Answer Given:- 1, Option ID : -465

 Question ID:- 118

Given below are two statements, one is labelled as Assertion (A) and the other is labelled as
Reason (R).
Assertion (A) : Kerala has a low Infant Mortality Rate.
Reason (R) :
In the light of the above statements, choose the correct answer from the options given below :
(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both statement Assertion (A) and Reason (R) are true but (R) is not the correct explanation

of (A)
(3) Assertion (A) is true but Reason (R) is false
(4) Assertion (A) is false but Reason (R) is true

Kerala has a adequate provision of basic health and educational facilities.

eft f I TR7 (A) 3?R (R) TFTT % I

3Tf^2R (A) : ^ 11
efilhJI (R) : if ofif 11

% 3Hici)eb ij Tfir fcjchrHi '3TR^ |

(1) (A) (R) Tift f 3fR (R) , (A) ~aft TT?t
(2) (A) afa (R) #ff W\tmg (R) , (A) -aft

(3) (A) (R) ^Rmti
(4) (A) 7Mcf % (R) % I

oHIOHI =t><c1l f I

C’MIO'-II <*> WI % l

Given below are two statements, one is labelled as Assertion (A) and the other is labelled as
Reason (R).
Assertion (A) : When we produce goods by exploiting natural resources, it is an activity of the

primary sector.
This is because it forms the base for all other products that we subsequendy make.Reason (R) :

In light of the above statements, choose the correct answer from the options given below :
(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(3) (A) is true but (R) is false
(4) (A) is false but (R) is true

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


Options:-

.1, Option ID :- 469,

. 2, Option ID :- 470,

. 3, Option ID :- 471,

. 4, Option ID :- 472,
 Answer Given:- 1, Option ID : -469

 Question ID:- 119

Options:-

.1, Option ID :- 473,

. 2, Option ID :- 474,

. 3, Option ID :- 475,

. 4, Option ID :- 476,
 Answer Given:- 4, Option ID : -476

 Question ID:- 120

41^ eft Rk, If, fadA ^ U,=h Bit 3tfBB> 2R (A) 3?k Bit BiH^ i (R) B> S?I BBT % I

3lfBBi8R (A) : BR f?B yi'Jjfd'h BBTBBf B>T Bt?B BB% fB>Bt B>T dcMKd BBit f Bt Bt? Tn r̂fiT̂ T £lB B>t B^i

Jrfrir̂ ^fttl
ef» KU| (R) : ^31^fdq.1? B4ffB> Bs? tFTft 'gRT BIB *)’ B'liq. W^ BT^ 3BB BBt <JcBlcft %fcTB B̂BR oMldl % I

<JM ^|=K1 BiBFT % 3iicil =h *)' BHt f?B BB IBB>CTHI *t B B?t BTR BiT RBB dilfaiq, :

(1) (A) #( (R) #rf 13fR (R), (A) Bit R# -&mu BiRT 11
(2) (A) 3^(R) ^Rfwtf 3k (R) , (A) Bit Bit q̂psB B#' BiRT 11
(3) (A) B?tt 3tfc (R) TT̂ RT % l

(4) (A) TfcTcT % 3^ (R) B?t % I

Given below are two statements about Subsidy. Choose the correct option from below.
Statement (I) : It is a payment that a government makes to a producer to supplement the market

price of a commodity.
Statement (II) : It can keep consumer price low while maintaining a lower income for domestic

producers.
(1) Both statement (I) and Statement (II) are true
(2) Both statement (I) and Statement (II) are false
(3) Statement (I) is true but Statement (II) is false
(4) Statement (I) is false but Statement (II) is true

*T$|P-TB>1 % Bit tf f^TT T[II|f( fqefctrH BiT RBB^ :

Bi2R (I) : R?T Be? ^BBFT % *K=hK £TB tBvFft ekBKB? Bit BMK =b1nd B>t % ftrTB fBiRT WIcfT % I

B=>8R (II) : Bel B^'dBcMKehf % f^gi fBR 3BB B> I >4H Rlrf fB, iJB*tlBBT d?lddT Bit BiR RB RRiBT % I

(1) BiSR (I) 3?ft Bi8R (II) I

(2) Ri2R (I) 3?fc BiSR (II) BeR f I

(3) BiSR (I) Rft 1 elfsR BiSR (II) BeTR|1

(4) BiSR (I) BeR t BtfBiR Bi«R (II) Wt tl

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


Options:-

.1, Option ID :- 477,

. 2, Option ID :- 478,

. 3, Option ID :- 479,

. 4, Option ID :- 480,
 Answer Given:- 1, Option ID : -477

 Question ID:- 121

Options:-

.1, Option ID :- 481,

. 2, Option ID :- 482,

. 3, Option ID :- 483,

. 4, Option ID :- 484,
 Answer Given:- 3, Option ID : -483

Minimum Support Price (MSP) is declared by the government
(1) every year
(2) every 5 years
(3) every 10 years
(4) every 15 years

before the sowing season.

% HI^H ^ tiiPw g>t ^idl % i^•IdH TJRI (gR/QTP'ft. ) TOK gRT

(1) IR RM

(2) IT MT̂ TTM

(3) sR TMT

(4) TR TIM

Given below are two statements and choose the correct answer from the given options :
Statement (I) : Seasonal hunger is related to cycles of food growing and harvesting.
Statement (II) : Seasonal hunger is prevalent only in urban areas.
(1) Both statement (I) and Statement (II) are true
(2) Both statement (I) and Statement (II) are false
(3) Statement (I) is true but Statement (II) is false
(4) Statement (I) is false but Statement (II) is true

^ eft fgg M* f 3fR fgTT -p; fa'+xrM'l 3Tl RF) MR MI MR |

M«R (I) : RRM dM'JtA 3fp MTMl %^Tf TTMg 11
MSR (ii) : 41*IH1 %MT wit ^Tcft % I

(1) M2R (I) 3?R M8R (II) gPlf T# f I

(2) M2R (I) #T «B8R (II) gtfl MR f I

(3) M?R (I) IRRJ M8R ( U) MR11
(4) M$R (I) MR t Mg MSR (II) Rgt tl

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


 Question ID:- 122

Options:-

.1, Option ID :- 485,

. 2, Option ID :- 486,

. 3, Option ID :- 487,

. 4, Option ID :- 488,
 Answer Given:- 4, Option ID : -488

 Question ID:- 123

Options:-

Food security means :
(1) availability and accessibility of food to all people at all times
(2) availability and affordability of food to all people at all times
(3) accessibility and affordability of food to all people at all times
(4) accessibility, affordability and availability of food to all people at all times

Hm TJTCJl FT 3T«f|:

(1) lit efpff % fdlf TrN llFT if! 3^l|F I

(2) lit % fdM. TT^I itFI Ft dMd̂ dl sflT FFt ITU FT^ FT Hist I

(3) Fit Flit % fFT( llFT Ft 3fiR T5T) ITH FT^ FT FTI^ I

(4) lit Flit % fFI llFI lit 3Hd«^dl, 3?k ITU FT^ FTHisf I

Read the following statements carefully and choose the correct answer :
Statement (I) : Mahatma Gandhi always insisted that india would be truly independent only

when the poorest of its people become free of human suffering.

Statement (II) : The aim of Swamajayanti Gram Swarozgar Yojana is to bring the assisted poor
families above the poverty line by organizing them into self help groups through
a mix of bank credit and government subsidy.

(1) Both Statement (I) and Statement (II) are true
(2) Both Statement (I) and Statement (II) are false
(3) Statement (I) is true but Statement (II) is false
(4) Statement (I) is false but Statement (II) is true

fdnfdRad Fill 111 H <SF< fl*t Tt1?t "SIT FT HR F^ I

HSR (I) : H^lcHI ITlt lltFl fTT ITIFt^IT FTcl *1fF HTcf Tf?t STlf lit Wdd '?tTn FIIF FT TUT!
oErfFTT it MHdll cZflT3^Ff IltlT I

HSR (II) : TF°f FFcft HI TITlFITT ATMHI FT I^IIdl ITU iftnfl Ft TI-I^Ndl TPJof ff H'lfdd
FT «fF H°1 3tk TTTFTTt TTinflHT % TRlFI UTTT fisJlIT \FT Tt FIT FHT % I

(1) HSR (I) 3flT H$R (II) TT^t f I

(2) HSR (I) 3ttT HSR (II) itlf IFcl f I

(3) HSU (I) I# f TtfFI HSR (II) IFd 11
(4) HSR (I) IF!f t̂F (II) Wt % In cfcuid

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
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.1, Option ID :- 489,

. 2, Option ID :- 490,

. 3, Option ID :- 491,

. 4, Option ID :- 492,
 Answer Given:- 1, Option ID : -489

 Question ID:- 124

Options:-

.1, Option ID :- 493,

. 2, Option ID :- 494,

. 3, Option ID :- 495,

. 4, Option ID :- 496,
 Answer Given:- 1, Option ID : -493

 Question ID:- 125

Given below are two statements : one of them is Assertion (A) and the other is Reason (R). which
of the following is true in die context of these statements.
Assertion (A) : Vulnerability to poverty is a measure, which describes the greater probability of

certain communities (say, members of backward caste) or individuals (such as
widow or a physically handicapped person) of becoming or remaining poor in
the coming year.
Vulnerability is defined by the option available todifferentcommunities for finding
alternative living in terms of assets, education, health and job opportunities.

In the light of the above statements, choose the most appropriate answer from the options given
below :
(1) (A) and (R) both are true and (R) is the correct explanation of (A)
(2) (A) and (R) both are true but (R) is not the correct explanation of (A)
(3) (A) is true but (R) is false
(4) (A) is false but (R) is true

Reason (R) :

414) eft f^TT ipr If I qft 3TH^)STT (A) (R) ^PTI % I

crcaaif % 3 iHHfdRsid 33 t ?
(A) : % Ufd tfN % ^ (d^lN -Hy<l 4l (‘^ tWft % WW ) ^

( 4) ^) =bl^ qr smORcb i) fqqicTFT OM1=KI ) qrqt °rqf if qi fqfcfa
®Fl qff SlfqqT 'Hdlcll 1? I

chKui (R) : 3RJ*$Tf qiT fqqfaiq qftftsrfqqf , t?T§TT, WIW 3?R <WiK % 3Topqif % if Mflfqq,! <3)^4 %
f̂ iq r̂ĝ pti % ITRT i) sftqr % i

(1) (A) afft (R) ^Fl!wit cfSTT (R), (A) ^ Tf?t ^TT T̂T 11
(2) (A) 3fa (R) *Tf) f cTSIT (R) , (A) qft ^rnaqT qff

(3) (A) ^ t^FT (R) f̂fitl
(4) (A) ^Temt (R) tl

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
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Options:-

.1, Option ID :- 497,

. 2, Option ID :- 498,

. 3, Option ID :- 499,

. 4, Option ID :- 500,
 Answer Given:- 2, Option ID : -498

 Question ID:- 126

Read the following statements and choose the correct answer from the code given below :
(i) Unemployment leads to wastage of manpower resource
(ii) Unemployment leads to proper utilisation of manpower resource
(iii) Unemployment tends to increase in economic overload
(iv) Unemployment tends to decrease in economic overload
Code :
(1) (i) and (ii)
(2) (i) and (iii)
(3) (ii) and (iii)
(4) (iii) and (iv)

PlHlclfiacI ebb'll Rif ^ tie) RiT ^
(i) ^ RRSifor wf*R Rft 11
(ii) 'jR^lfew % <ipcld 3TR et RTRft % I

(iii) ^UVlKl Tl ^ 11
(iv) 33TTf8^^1 f̂ 11

(1) (i) 3?R (H)
(2) (i) 3% (iii)
(3) (ii) 3fK (iii)
(4) (iii) (iv)

The nature of unemployment in rural areas are mostly :
(i) Educated unemployment
(h) Seasonal unemployment
(iii) Disguised unemployment
Code :
(1) (i) only
(2) (ii), (iii) only
(3) (ii) only
(4) (iii) only

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


Options:-

.1, Option ID :- 501,

. 2, Option ID :- 502,

. 3, Option ID :- 503,

. 4, Option ID :- 504,
 Answer Given:- 2, Option ID : -502

 Question ID:- 127

Options:-

.1, Option ID :- 505,

. 2, Option ID :- 506,

. 3, Option ID :- 507,

. 4, Option ID :- 508,
 Answer Given:- 3, Option ID : -507

HIH1UI 3 îidid < t
(i) f T̂f^TrT <^<WIK1
(ii) HWHl
(iii) y -'sta ŴIKI

(1) (i)
(2) (ii) 3fk (iii)
(3) (ii)
(4) (iii)

The quality of population depends upon :
(i) Literacy rate
(ii) Life expectancy
(iii) Skill formation

(1) only (i)
(2) (ii) and (iii) only
(3) (i) and (ii) only
(4) only (ii)

(i) ¥TOT ^
(ii) 4)dd YRTWTT Tt

(iii) dil^lcl PlHiul "TT

(1) %̂ T (i)
(2) (ii) 3?R (iii)
(3) (i) 3fk (ii)
(4) (ii)

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
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 Question ID:- 128

Options:-

.1, Option ID :- 509,

. 2, Option ID :- 510,

. 3, Option ID :- 511,

. 4, Option ID :- 512,
 Answer Given:- 4, Option ID : -512

 Question ID:- 129

Given below are two statements. One of them is Assertion (A) and the other is Reason (R). Which
of the following is true in the context of below statements ?
Assertion (A) : Countries like Japan have plenty of naturalresources. By theuseof these, itbecame

a developed nation.
Japan invested on people, especially in the field of education and health. Efficiency
and the technology evolved by people have made Japan developed.

(1) (A) and (R) both are true and (R) is the correct explanation of (A).
(2) (A) and (R) both are true but (R) is not the correct explanation of (A).
(3) (A) is true but (R) is false.
(4) (A) is false but (R) is true.

Reason (R) :

4)-c) j^iTTpT fri 3rfire>sR (A) ^r^nwr (R) TPTT % i

3 iHHfirffisId 3 ^t?
3Tf^raiSFT (A) : ^IHM ^ yi'Jiid'*) RM if RT I PalRobl IPTET RR R!? ^

®RTI

cFRTJT (R) : JllHM ^ $PEf fl°rrfRRf if ^^ PWI t^fl I eTEnf ^ f̂t
gulden sfR jJt T̂ir*|cKj faciei Rft "OTl ^ MIIHM T̂T I

(1) (A) 3^ (R) cT«?T (R), (A)

(2) (A) 3ft (R) ^Tf t cf«n (R), (A) ^W\ T̂Es9I 11
(3) (A) R?tt 3?k (R) Rdcltl
(4) (A) (R) ^ttl

Given below are two statements. Choose the correct answer from given options.
Statement (I) : The Green Revolution in the late 1960s introduced the Indian farmer to cultivation

of wheat and rice using High Yielding Varieties (HYVs) of seeds.
Statement (II) : HYV seeds needed plenty of water and also chemical fertilizers and pesticides to

produce best results.
(1) Both Statement (I) and Statement (II) are true
(2) Both Statement (I) and Statement (II) are false
(3) Statement (I) is true but Statement (II) is false
(4) Statement (I) is false but Statement (II) is true

https://applink.adda247.com/d/XhqWf9lSap
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Options:-

.1, Option ID :- 513,

. 2, Option ID :- 514,

. 3, Option ID :- 515,

. 4, Option ID :- 516,
 Answer Given:- 1, Option ID : -513

 Question ID:- 130

Options:-

.1, Option ID :- 517,

. 2, Option ID :- 518,

. 3, Option ID :- 519,

. 4, Option ID :- 520,
 Answer Given:- 3, Option ID : -519

 Question ID:- 131

Rft^ eft Ri«R RTT f I fgR fqchersT 3 ft) Rif) RrR RiT Rift \

RiSR (I) : 1960 % R^TRi % 3Rfif ifR ?F#T % RRefa fRiUHl" R?T 3#fRi Rf^ Rftiff (TJR.RTtRft. ) % gRT

^3fn Tjictcri RTf itcft Riift % Rff% fe<an< i

RiSTR (II) : stfRRi' RR^T H'JllfdR)' RTvf Rftjff ftf 3lfRRiclH RRR "91% %%Q; RfR ^RTgf RH) eTSIT <HIRplRi UTR 3ftfc
<=blclH|iin<=bf Rif vjRfHd R) I

(1) RTRR (I) #1 oF8R (II) ^Rf R#11
(2) oF2R (I) 3fa RT8R (II) RfRT RRcT f I

(3) RiRR (I) R# t RRJ RiRR (II) TRR 11
(4) RiRR (I) ReTR f RRg, RiRR (II) Wf %|

Given below are two statements.One of them Ls Assertion (A) and the other is Reason (R). Choose
the correct answer from given options.
Assertion (A) : Currency is accepted as a medium of exchange in the country.
Reason (R) : Currency is authorised by the people of the country.

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(3) (A) is true but (R) is false
(4) (A) is false but (R) is true

RN) eft R7RR tgTT RTT ^ ft) RRi Rif 3lf^R)SR (A) 3?R g-Hft Rif RiTTR (R) Ri?T RRT % I fgR RR fRRiRTf' ftf ft)
Rif) RTR Rif RRR Rift I

3Tf̂ TRiSR (A) : RiftRf R?t fsrfRRR % RRRR % RiR ftf ftf fRiRT RfRf 11
RTRtrr (R) : chft'Hl fR5R) ^?f Rift RRRT gRT RlfR^R Rit 'RRf) % I

(1) (A) 3tl (R) 3fR (R) , (A) RiftR^t ^WnRiRTtl
(2) (A) #t (R) RlRfR?tt 'qft3 (R), (A) R^ Rft ^n^TRFfRiRTtl
(3) (A) RSttRR3 (R) RRcftl
(4) (A) RvratRTRJ (R) R?) tl

https://applink.adda247.com/d/XhqWf9lSap
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Options:-

.1, Option ID :- 521,

. 2, Option ID :- 522,

. 3, Option ID :- 523,

. 4, Option ID :- 524,
 Answer Given:- 4, Option ID : -524

 Question ID:- 132

Options:-

.1, Option ID :- 525,

. 2, Option ID :- 526,

. 3, Option ID :- 527,

. 4, Option ID :- 528,
 Answer Given:- 3, Option ID : -527

 Question ID:- 133

Why has the Indian ocean been named after India ?
(1) because Indians discovered it.
(2) because it is near to India.
(3) because no other country has a long coastline on it.
(4) because British named it after India when they colonized India.

*IRcT % ^TTR TR spif TUT W ?
(1) *TKdl <ii % TsffST I

(2) q? ÎRTT % W11
(3) H6 I +TMK dd) 4) tiiHI T̂Rd % I

(4) =wif =h ^Kd 3TTTT dHpl^TI ^dlRI 5*1°hl d!H *1Kd % dIH TTT TT§ I

The Latitudinal extent influences the duration of day and night as one moves from
(1) North to South
(2) South to North
(3) West to East
(4) East to West

"Rpr TRT 37^1 TT TfdT 1137^nyr

(1) Tf -tfm aft 3TR
(2) Tl ^3TR aft 3T)R

(3) HHMH 3^ 3tlT
(4) ^^ llVdH^ 37tr
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Options:-

.1, Option ID :- 529,

. 2, Option ID :- 530,

. 3, Option ID :- 531,

. 4, Option ID :- 532,
 Answer Given:- 2, Option ID : -530

 Question ID:- 134

Options:-

.1, Option ID :- 533,

. 2, Option ID :- 534,

. 3, Option ID :- 535,

. 4, Option ID :- 536,
 Answer Given:- 1, Option ID : -533

If the sun rises in Arunachal Pradesh at 4.00 A.M. then when will sun rise happen in Gujarat ?
(1) Approximately at 5:00 A.M.

(2) Approximately at 6:00 A.M.

(3) At the same time, i.e. 4.00 A.M.
(4) Approximately at 3:50 A.M.

3PR 3Ĥ U||-C|C1 R^6 4 '3TTcTT % itf d'hll ?
(1) PFPPT 5^1
(2) crFPFT^6 6

(3) CS'HI TOPI 318lf^Tps? 4

(4) TfWT 3:50^1

A person was travelling to different parts of India and he/she shared that he/she firstly visited
youthful topography of India having high peaks and deep valleys and then he/she moved to
ancient landmass of India having rising hills and wide valleys.
Which places has the person visited ?
(1) Karnataka and Jammu Kashmir
(2) Jammu Kashmir and Andamans
(3) Meghalaya and Rajasthan
(4) Andamans and Karnataka

oMfad ^TRTT % *T F T t '?n^T T?? *1 ^cINI fai ‘^T T^dl^Rl
R>I<SK^ f CITP PTJ PswA’ MeiPs T̂

T®IR r̂i^?
(1) 'fc'lld'b 3fR vjiu^ ct̂ Hk
(2) 'WHU 3?K îsHM
(3) 3ft? U5TRTR

(4) Sf -SHM 3|P: ch'lfioh
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 Question ID:- 135

Options:-

.1, Option ID :- 537,

. 2, Option ID :- 538,

. 3, Option ID :- 539,

. 4, Option ID :- 540,
 Answer Given:- 2, Option ID : -538

 Question ID:- 136

Match the following :
Region of Northern Plain

(A) Bhabar
(B) Terai
(C) Bhangar
(D) Khadar

(A) (B) (C) (D)
(1) (i) (B) (in) (iv)
(2) (in) (i) (ii) (iv)
(3) (iv) (iii) (ii) (i)
(4) (i) (iii) (iv) (ii)

Features
(i) Wet, swampy and marshy region
(ii) Region having calcerous deposits
(iii) Region of disappearance of streams
(iv) Younger deposits of floodplains

favlM^:

dri 'D % WT

(i) ^
(ii) &5f

(iii) '?Tfcn3Tf % ^>T

(iv) f r̂^nrf ^ 4<IHT

(A)

(B) mi
(q w
(D)

(A) (B) (q (D)
(1) (i) (ii) (iii) (iv)
(2) (iii) (i) (ii) (iv)
(3) (iv) (iii) (ii) (i)
(4) (i) (iii) (iv) (ii)

Which of the following is true about corals ?
(1) Coral polyps are long lived micro-organisms.
(2) Corals polyps do not live in colonies
(3) Corals polyps flourish in deep, mud free and cold water.
(4) Corals polyps secrete calcium carbonate
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Options:-

.1, Option ID :- 541,

. 2, Option ID :- 542,

. 3, Option ID :- 543,

. 4, Option ID :- 544,
 Answer Given:- 4, Option ID : -544

 Question ID:- 137

Options:-

.1, Option ID :- 545,

. 2, Option ID :- 546,

. 3, Option ID :- 547,

. 4, Option ID :- 548,
 Answer Given:- 1, Option ID : -545

 Question ID:- 138

M =)ld % if Pl*-1 3^ Wt %?
(1) MTTdm <rf% 'SFFf rRF 'dlPcId T̂cf TEJSFf RWf f I

(2) ypld ilfdHH TFJt? if H?!T?^ I

(3) nTfd^ =bl -cis <n?ci 'Qcf "3%^if ff% f i

(4) ycfld Hlfd '-H if ^jf^PF? 'FN
'Mi^ ?7tcTT % I

Read the following statements about Himalayan Rivers and choose the correct answer from given
options.
(i) Himalayan rivers are perennial.
(h) Himalayan rivers receive water from rain and snow.
(iii) Himalayan rivers form meanders in their upper course.
(iv) Himalayan rivers have well developed deltas.

(1) (i), (ii) and (iii)
(2) (i), (iii) and (iv)
(3) (i), (ii) and (iv)
(4) (ii), (iii) and (iv)

fenid-M 'IR MI % if f^T TJTT RTR^8Rf Rf 3?R fa =t><rHi if if wf "3TR v̂f I

(i) fe'HId-M Hf^TT <NK£HWl imtf I

(ii) %HTvPT F̂t "IR'MT PH K̂TI^ cPH <s||Rvi ^RI "5TR RM R̂cff 11
(iii) P̂ HId-4 F̂f dfĉ T TFFCt MPT if PH -H H? F̂T Pi f̂ui eh<d1 t> I

(iv) f^MId -M 'iR'il if P=f <hRld IsRZT i?R) f I

(1) (i), (ii) ik (iii)
(2) (i), (iii) 3fR (iv)
(3) (i), (ii) (iv)
(4) (ii), (iii) (iv)
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Options:-

.1, Option ID :- 549,

. 2, Option ID :- 550,

. 3, Option ID :- 551,

. 4, Option ID :- 552,
 Answer Given:- 1, Option ID : -549

 Question ID:- 139

Options:-

.1, Option ID :- 553,

. 2, Option ID :- 554,

. 3, Option ID :- 555,

. 4, Option ID :- 556,
 Answer Given:- 2, Option ID : -554

Read the following statements about Brahmaputra River and choose the correct answer from
given options.
Statement (I) : In Tibet, the river carries high volume of water and high silt.
Statement (II) : In India, it passes through a region of high rainfall.
(1) Both Statement (I) and Statement (II) are true.
(2) Both Statement (I) and Statement (II) are false.
(3) Statement (I) is true but Statement (II) is false.
(4) Statement (I) is false but Statement (II) is true.

wpp R#% if fFi fR fcichWi ifir wt RRT RR wr wi i

^) SFT (I) : fc1®e=lcl if if R!R RR fflrS RTRT R|jR %|

RJ2TR (II) : RRR if R?? R^) RRf RTrf if SNR % I

(1) (I) efiSIR (II) ^RTf Tflt f I

(2) RTSJR (I) 3fk RR8JR (II) ^?i RRR f I

(3) ^8IR (I) IRTRJ cF8R (II) Wit 11
(4) (I) RRR t RTRJ ^78TT (II) Wf 11

Choose the odd one out.
(1) Narmada and Tapi both are penninsular rivers.
(2) Narmada and Tapi both originate from Madhya Pradesh.
(3) Narmada basin and Tapi basin both cover some areas of Maharashtra.
(4) Narmada and Tapi both depend on rainfall for water.

(1) R4̂ T 3?TC RPTf ^Rf Rf^RT f I

(2) R^RT 3fR RR)^Rf Rfl R^TR TTtZf 3P$T 3?RT 11
(3) R^RT 3fR RTRf RtRf H6KI^% Ps-HHl’ if f I

(4) R*fcT RR) % tRTT RRf Tt fRsft RRRt f I
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 Question ID:- 140

Options:-

.1, Option ID :- 557,

. 2, Option ID :- 558,

. 3, Option ID :- 559,

. 4, Option ID :- 560,
 Answer Given:- 2, Option ID : -558

Which of the following Venn Diagram clearly depicts the relationship between climate and weather.

> Weather

Climate

>Climate

Weather

Weather M > Climate

Weather Climate

fTR Hl<HH % 4 1 T f i f t "ST^TR r̂TT % ?

>

^FrTcTPT
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 Question ID:- 141

Options:-

.1, Option ID :- 561,

. 2, Option ID :- 562,

. 3, Option ID :- 563,

. 4, Option ID :- 564,
 Answer Given:- 2, Option ID : -562

 Question ID:- 142

Read the statements below, one of them is Assertion (A) and the other is Reason (R).
Assertion (A) : Air temperature decreases from the equator towards the pole.
Reason (R) : Due to curvature of Earth, the amount of solar energy received varies according

to latitude.
Choose the correct option :
(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(3) (A) is true but (R) is false
(4) (A) is false but (R) is true

f p=r w t i r̂ 3t f̂ «R (A) 1 3?K (R) 11
(A)

cFTTUT (R) :

: dIHHM fc| =̂ki ^ stK 'qz ^TRTTt 1
'’TRTT^% cbK^I , TITO <5v5rf MMi SfSJTCTl % 3EJHR ^Idl % I

(1) (A) 3^ (R) 3fc (R), (A) 11
(2) (A) 3lft (R) ^Tf ^tt^ (R), (A) %
(3) (A) ^T?t t (R) 11
(4) (A) WrtRT^ fR) t̂|l

Read the following statements, One of them is Assertion (A) and the other is Reason (R).
Assertion (A) : Hills are cooler during summers.
Reason (R) :
Choose the correct option :
(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(3) (A) is true but (R) is false
(4) (A) is false but (R) is true

At Higher altitudes the atmosphere become more dense.
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Options:-

.1, Option ID :- 565,

. 2, Option ID :- 566,

. 3, Option ID :- 567,

. 4, Option ID :- 568,
 Answer Given:- 1, Option ID : -565

 Question ID:- 143

Options:-

.1, Option ID :- 569,

. 2, Option ID :- 570,

. 3, Option ID :- 571,

. 4, Option ID :- 572,
 Answer Given:- 1, Option ID : -569

 Question ID:- 144

PlH W7FT "ft I Tf 3tf̂ )8R (A) t 3^^FRT chHAM (R) 1? 1

3?fi4 ch?Ff (A) : H5lfs4ll JIHl %> f̂cfTR cisl tjldl ?> I

T̂RTJT (R) ; '?f?r?f TT c|I^M4crl WfcHdl % l

Wt f̂ cbrH T̂I -g-iicl I

(1) (A) 3?R (R) 3?R: (R), (A) ^t^ -sqr T̂ ^RrJltl
(2) (A) 3?R (R) ^' wtfxRg (R), (A) Will
(3) (A) ^f -q^g (R) TMCTII
(4) (A) Wf|^(R) ^ tl

Read the following statements carefully, One of them is Assertion (A) and the other is
Reason (R).
Assertion (A) : Delhi is very hot during summers & very cold during winters.
Reason (R) :
Choose the correct option :
(1) (A) and (R) both are correct and (R) is the correct explanation of (A)
(2) (A) and (R) both are correct but (R) is not the correct explanation of (A)
(3) (A) is true but (R) is false
(4) (A) is false but (R) is true

Delhi is far from sea.

fp=T cftfpti cfct WTH 3Rf I 3 3tf^cFSR (A) t 3?fc g?RT cFRUT (R)|l

3Tftr3T2R (A) : J [W4i TT4 3^ <6dl t" I

chibJi (R) : Rvdl ^ ®f|?r % i

Wt 'qq^|c( I

(1) (A) at* (R) 3?K (R), (A) îfl
(2) (A) 3?R (R) ^TfwtfxRg (R), (A) will
(3) (A) (R) TMCTII
(4) (A) WftR^g (R) wt % I
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Options:-

.1, Option ID :- 573,

. 2, Option ID :- 574,

. 3, Option ID :- 575,

. 4, Option ID :- 576,
 Answer Given:- 1, Option ID : -573

 Question ID:- 145

Options:-

.1, Option ID :- 577,

. 2, Option ID :- 578,

. 3, Option ID :- 579,

Choose the correct answer from the given options about India's Latitude,

(i) Tropic of Cancer passes through middle of the country.
(h) Northern part of the country belongs to tropical area.
(iii) Southern part of the country belongs to sub-tropical area.

(1) Only (i)
(2) (i) and (iii)
(3) Only (iii)
(4) (i) and (ii)

% 3T8jf?T % if f^tr TJXT fw t̂f if ^ WT ^>1 ^ I

(i) ^ ^'sRdl % I

(ii) =FT Wit T̂FT cFfWlfa % I

(iii) WT f I

(1) (i)
(2) (i) 3ft (iii)
(3) (iii)
(4) (i) 3ft (ii)

Which of the following is true about Coriolis force ?
(1) It is an apparent force caused by Earth's gravitational force.
(2) It is an apparent force caused by Earth's rotation.
(3) It is responsible for deflecting winds towards the left in the northern hemisphere.
(4) It is responsible for deflecting winds towards the right in the southern hemisphere.

fTR if it if Wf % ?
(1) Rl? ReT % =t> Kul -icHv) RTcff "W STT^TRft RR % I

(2) Rl? ^SRi % % RiRR 3<RR RTRT SflRRlf RR % I

(3) R?RR wff % cRRt R Rif 3TR fR^ftR RR% % % I

(4) Rl? RR Wit RfSPJft RtRLf if Rif 37tT t̂ ^fqcl RR f̂ %fRR WRTRf % I
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. 4, Option ID :- 580,
 Answer Given:- 2, Option ID : -578

 Question ID:- 146

Options:-

.1, Option ID :- 581,

. 2, Option ID :- 582,

. 3, Option ID :- 583,

. 4, Option ID :- 584,
 Answer Given:- 4, Option ID : -584

 Question ID:- 147

National Population Policy of India focuses on :
(i) imparting free and compulsory school education.
(h) reducing infont mortality rate.
(iii) compulsory sterilization to reduce birth rate.
(iv) creating awareness about the risk of unprotected sex among adolescents.

(1) (i), (ii) and (iii)
(2) (ii) and (iii)
(3) (i), (ii) and (iv)
(4) (ii), (iii) and (iv)

(i) 3^ 3HPIC||4 fc| JKrl41 f^T^n ^ "tR

(ii) RR ^R^ rp

(iii) cR "3RT % fdU, 3iPi«il4 TR

(iv) tRRTtfpff 4’ "#T 4' W1

(1) (i). (ii) Jrr (iii)
(2) (ii) afa (iii)
(3) «, (8) 3fc <hr)
(4) (ii), (iii) 3fR (iv)

:

T?RRTT 'R

Which of the following is true about 'enrichment plantation' ?
(i) In this process, a single commercially valuable species is extensively planted.
(ii) In this process, the plantation is being done to reduce land erosion.
(iii) It leads to damaging of the natural forests.
(iv) It leads to increase in diversity of forest.

(1) (i) and (iii)
(2) (ii) and (iv)
(3) (i) and (ii)
(4) (iii) and (iv)
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Options:-

.1, Option ID :- 585,

. 2, Option ID :- 586,

. 3, Option ID :- 587,

. 4, Option ID :- 588,
 Answer Given:- 2, Option ID : -586

 Question ID:- 148

Options:-

.1, Option ID :- 589,

. 2, Option ID :- 590,

. 3, Option ID :- 591,

. 4, Option ID :- 592,
 Answer Given:- 3, Option ID : -591

 Question ID:- 149

fTR 3^ cfifa-W WWT 3Wt t?
(i) fR yfstJ'MI f̂ ^lPul̂ q Wf cjfg^ k <*> Cl WT <) MUI Pfc'MI WcTT 1? I

(ii) W? yfstvMI *jfa <+niW =(?! ft=F^T %1cT^ =F>t Weft % I

(iii) fH Jifsh -m t̂ Ml 'Jifel't) WT Wffc iff Wrf f I

(iv) fsrct wit wt fatwreu ŵft % i

(1) (i) 3fc (iii)
(2) (ii) 3?fc (iv)

(3) (i) 3fo (ii)
(4) (iii) sfrr (iv)

Read the following statements about water scarcity & choose the correct answer from given
statements.
Statement (I) : Water scarcity only happen in those areas which have less water resources.
Statement (II) : Water scarcity can never happen in areas having high rainfall.
(1) Both Statement (I) and Statement (II) are true
(2) Both Statement (I) and Statement (II) are false
(3) Statement (I) is true but Statement (II) is false
(4) Statement (I) is false but Statement (II) is true

Wvf 'gef'WTT % Wl f T̂R WWff Wf WH 3 Rf 3?R 1cpT fa =bvHT 3 Wt WR WT Wt I

W2R (I) : WT ^efWTT Wf ^«fHf W ifRff t, wff Wf WTWtf Wt WRf i?Rff 11
W8R (II) : WT ^cf^RlT W f̂t SfWfaW " r̂PTf R^ iff <4W> dl I

(1) CF«R (I) W8R (II) W\11
(2) WSR (I) 3fR W8R (II) RcTcf f I

(3) WSR (I) Wt| W2R (U) ^MrT 11
(4) WSR (I) WR t WRf WWT (II) Wf 11
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Options:-

.1, Option ID :- 593,

. 2, Option ID :- 594,

. 3, Option ID :- 595,

. 4, Option ID :- 596,
 Answer Given:- 4, Option ID : -596

 Question ID:- 150

Given below are two statements. One is an Assertion (A) and the other is Reason (R) .

Assertion (A) : Arhar, being a leguminous crop, helps in restoring soil fertility.
Reason (R) :
Choose the correct answer from given options :
(1) (A) and (R) both are correct and (R) is the correct explanation of (A).
(2) (A) and (R) both are correct but (R) is not the correct explanation of (A).
(3) (A) is true but (R) is false.
(4) (A) is false but (R) is true.

Arhar is mostly grown in rotation with other crops.

t T̂TTUT (R) 11
3Tf̂ TB>8ET (A) : 3RjR, 4-idkK % <+> Kul , B>) <i4<dl Bit BBTTT «s(d1 1? I

B7TEJT (R) :
"Rift BBT BB ^d|c| |

(1) (A) 3?R (R) BtBf R?t f 3?R (R) , (A) Bit Rlt
(2) (A) 3ĥr (R) Bbrf wt t (R) , (A) Bit R?t OMIOMI Rtf BRBT % i

(3) (A) RStfRTRJ (R) Reffitl
(4) (A) 7MBtRT̂ (R) Rlttl

3R1R Bit 3iNcfl< RT 3ER dvHcri'l % 3lMc{d "*¥ RlRT BflRT % I

tl»4lom <=b<dl

Read the below statements and choose the correct option.
Statement (I) : Earth's crust is made up of different metals embedded in the rocks.
Statement (II) : Various minerals are extracted from these metals after proper refinement.
(1) Both Statement (I) and Statement (II) are true
(2) Both Statement (I) and Statement (II) are false
(3) Statement (I) is true but Statement (II) is false
(4) Statement (I) is false but Statement (II) is true

d) -^ iRR|TR ch^d) Bit Rif Rift faBird BB "RRR Riti I

cf)8R (I) : ^-Rxfst ffafRR 3Rdt RfFf 3fR t̂d11
RJ8ET (II) :1R BR <JH^Bd RltRR RR=li it farfRR RTjJR fddildl 'did) t I

(1) oF?TT (I) RRSET (II) Wt fl
(2) RiRR (I) 3tk cF?ET (II) RHf 7MB f I

(3) RiSET (I) R?t t RTR|RiSET (II) BRl f I

(4) RiRR (I) 7MB t RE$ RiRR ( II) W\%\
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Options:-

.1, Option ID :- 597,

. 2, Option ID :- 598,

. 3, Option ID :- 599,

. 4, Option ID :- 600,
 Answer Given:- 1, Option ID : -597

 Question ID:- 151

Options:-

.1, Option ID :- 601,

. 2, Option ID :- 602,

. 3, Option ID :- 603,

. 4, Option ID :- 604,
 Answer Given:- 3, Option ID : -603

 Question ID:- 152

Aluminium is
(i) Very strong
(ii) Very light
(iii) Very resistive
(iv) Highly malleable

(1) (i), (ii) and (iii)
(2) (i), (ii) and (iv)
(3) (ii), (iii) and (iv)
(4) (i) and (ii)

metal.

^tl
(i) ^lf=kWldl
(ii)
(iii)
(iv) <^§d mclct^4=h

(1) (i), (ii) 3fk (iii)
(2) (i), (ii) (iv)
(3) (ii), (iii) 3k (iv)
(4) (i) 3k (ii)
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Options:-

.1, Option ID :- 605,

. 2, Option ID :- 606,

. 3, Option ID :- 607,

. 4, Option ID :- 608,
 Answer Given:- 1, Option ID : -605

 Question ID:- 153

Manufacturing sector is considered the backbone of development because :
(i) It reduces people's dependence on agricultural income.
(ii) It modernises agriculture.
(iii) Import of manufactured goods expands trade and commerce.
Code :
(1) (i) and (ii)
(2) (ii) and (iii)
(3) (iii) only
(4) (i) only

(i) ^ TR f^T^TcTT % I

(ii) SH^Pic^cti ^ui ^riT % I

(iii) PlMd STPTfff ^ oi||Cj|< qq ®i <Sidl % I

(1) (i) 3fa (ii)
(2) (ii) 3k (iii)

(3) % r̂ (iii)
(4) (i)

Read the statements below and choose the correct option.
Statement (I) : The Textile Industry occupies unique position in the Indian economy.
Statement (II) : Textile Industry is the only industry in the country which is self reliant and

complete in the value chain, i.e. from raw material to the highest value added
products.

(1) Both Statement (I) and Statement (II) are true
(2) Both Statement (I) and Statement (II) are false
(3) Statement (I) is true but Statement (II) is false
(4) Statement (I) is false but Statement (II) is true
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Options:-

.1, Option ID :- 609,

. 2, Option ID :- 610,

. 3, Option ID :- 611,

. 4, Option ID :- 612,
 Answer Given:- 3, Option ID : -611

 Question ID:- 154

Options:-

.1, Option ID :- 613,

. 2, Option ID :- 614,

. 3, Option ID :- 615,

. 4, Option ID :- 616,
 Answer Given:- 2, Option ID : -614

 Question ID:- 155

^ Mpcok. 3pf7 71?) f=f =hcrH ^>T RR I
" ŜR (I) : MRcffa 3?«)cZR7»fT 3 'SlfR^Rrfw WT11
^iSR (II) : RR 33?PT T̂ 37%RI ^^TPT % R5( RcT 7) 7̂R7 <5^dH 3lRlR<=K1 tJRT Ri fQRT 3

cRT SlRTppfc11
(1) cfcSR (I) afa ŜR (II) ^Rf 7# fl
(2) c*8R (I) #C 7R8R (II) ^Rf RR 11
(3) cF8R (I) 71?) I Wg cRSR (II) TTcTfr 11
(4) RJ2R (I) RRT t ^?R (II) 71?) 11

Below are two statements. One is Assertion (A) and the other is Reason (R). Read them carefully
and choose the correct option.
Assertion (A) : Sugar Industry is seasonal in nature.
Reason (R) :
(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(3) (A) is true but (R) is false
(4) (A) is false but (R) is true

Sugar Industry is ideally suited to the cooperative sector.

41^ ^) ^)*R I §*lA 7) 3TftRT8R (A) % 3^)7 <j7kl efcKvi (R) % I ?% 7) Rio 3?t7 71?) f =) ®hcs R ^TR

3THRTSR (A) : RH) <S jl 4 l R>) H^fcl 4)714) % I

<*KU| (R) : RH) ‘3SfR 7l5=bl0 %%TT f |

(1) (A) $K ( R) 3fk (R) , (A) F̂t 7T?t ÎBM 7̂cntl
(2) (A) 3?T7 (R)^Tf 71?tf ‘q73 (R) > (A) 71?) R?f RRT 11
(3) (A) (R) RR? tl
(4) (A) RRR tR7^ (R) 7# % I
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Options:-

.1, Option ID :- 617,

. 2, Option ID :- 618,

. 3, Option ID :- 619,

. 4, Option ID :- 620,
 Answer Given:- 3, Option ID : -619

 Question ID:- 156

If you are in the electronic capital of India, then you are in :
(1) Mumbai
(2) Hyderabad
(3) Bengaluru
(4) Chennai

3PR 3TN 'RTRT^3||si)p|cb % eft 37N

(1)
(2) sk<NK
(3)
(4)

I

Constitution of South Africa guarantees following rights to citizens -
(i) Right to privacy
(ii) Right to have access to adequate housing
(iii) Right to have sufficient food and water.

(iv) Right to have armed revolt.

Code :
(1) (i) and (ii)
(2) (i) and (iv)
(3) (i), (ii) and (iii)
(4) (i), (ii) and (iv)

'IHlfWi PinfelRsicI far! f
(i) Pl 'Jlcll ^5T 3|fa=hK

(ii) 3TlWR
(iii) T̂tRR 3?ft RH) cfiT

(iv) WR5I fasls 3#T3iR

(1) (i) ate (ii)
(2) (i) * (iv)
(3) (i), (ii) aifc (iii)
(4) (i), (ii) rfti (iv)
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Options:-

.1, Option ID :- 621,

. 2, Option ID :- 622,

. 3, Option ID :- 623,

. 4, Option ID :- 624,
 Answer Given:- 3, Option ID : -623

 Question ID:- 157

Options:-

.1, Option ID :- 625,

. 2, Option ID :- 626,

. 3, Option ID :- 627,

. 4, Option ID :- 628,
 Answer Given:- 3, Option ID : -627

 Question ID:- 158

It is true about National Human Rights Commission that :
(i) This is an independent Commission set up by law in 1993.
(ii) Like judiciary, the Commission is independent of the government.
(iii) Commission is appointed by the President and Chief Justice of Supreme Court.
(iv) The Commission presents its findings and recommendations to the government or intervenes

in the court on behalf of the victims.

(1) (i) and (ii)
(2) (ii) and (iii)
(3) (i), (ii) and (iv)
(4) (i), (ii) and (iii)

TTRTpT 3TPTFT % % :

(i) Re? 1993 3 ehl'Ji % URT ®MNI ‘W •WcM 3U%T %|

(ii) cK6 31FTPT ^ ^H I

(iii) STPfth Pi^f =K1 <|bdHRl 3?R

(iv) 3IFfpT 3PR) "̂ iN RHU 3ftT 3PI^ *K=bK^ % RT Hlfsd) 3?R ^ 3t <^icr1c1 %!T % I

(1) (i) 3?R (ii)
(2) (ii) (iii)
(3) (i), (ii) (iv)

(4) (i), (ii) (iii)

% '3̂ 1 ‘ T̂RlRjfaT 1? I^RRfRRT

Think about the following statements and choose the correct option.
Statement (I) : Constitution provides many more rights, which may not be fundamental rights.
Statement (II) : Right to property is a fundamental right but it is not a constitutional right.
(1) Both Statement (I) and Statement (II) are true
(2) Both Statement (I) and Statement (II) are false
(3) Statement (I) is true but Statement (II) is false
(4) Statement (I) is false but Statement (II) is true
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Options:-

.1, Option ID :- 629,

. 2, Option ID :- 630,

. 3, Option ID :- 631,

. 4, Option ID :- 632,
 Answer Given:- 2, Option ID : -630

 Question ID:- 159

Options:-

.1, Option ID :- 633,

. 2, Option ID :- 634,

. 3, Option ID :- 635,

. 4, Option ID :- 636,
 Answer Given:- 3, Option ID : -635

 Question ID:- 160

IB fa -dK 3ffa Wt Fcj'+KrH BiT R̂R I

cf> 2R (I) : r̂fatJFT 3FRT <Jtrft 3ff*R>R *ft ^cU % 4lfd=b 3Tf*R>R B?f % I

=̂>8R (II) : B>T srffeRfvR Hlfd't) 3lf*R>R t, RT SlffefoFR B?f f I

(1) BT2R (I) 3?fc efT8R (II) ^Rf f I

(2) Bi2R (I) 3?ft cF«R (II) ^tf ReTcf f I

(3) ŜR (I) Wt t efiSR (II) Wi 11
(4) <*?2R (I) Tm\% c&SR (II) W) tl

Below are statements. One of them is Assertion (A) and the other is Reason (R) .

Assertion (A) : Constitution makers were so particular in providing written guarantees of the
rights of the minorities.

Reason (R) : Working of democracy gives power to the majority .

Choose the correct answers from given options.

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(3) (A) is true but (R) is false
(4) (A) is false but (R) is true

eft qcKloM TR f I TRT^3tf*Ri8R (A) 3?R <*> KUI (R) W %|

3Tf̂ R7SR (A) : tFfft Finfcll % 3#RiRf^Pelfed RRS) % fair 3#R7 ^ I

T̂RtJT (R) :
fej; m faetxrHi ^ Tffft BrR TfBR ^ I

(1) (A) 3?R (R) ^tff^fwfR) , (A) BRBltl
(2) (A) 3^R (R) f vlfed (R) , (A) Bit "R# e>MI04l Btff BFRrlT % I

(3) (A) t̂t^FT (R) TleRltl
(4) (A) (R)^tl

RfBuTB B?t BiRftRgfcT 3R^3TRf Bit dl <*»d ^^eft 11
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Options:-

.1, Option ID :- 637,

. 2, Option ID :- 638,

. 3, Option ID :- 639,

. 4, Option ID :- 640,
 Answer Given:- 1, Option ID : -637

 Question ID:- 161

Options:-

.1, Option ID :- 641,

. 2, Option ID :- 642,

. 3, Option ID :- 643,

The practice of untouchability has been constitutionally forbidden in any form. Untouchability
means :
Statement (I) : Untouchability means refusal to touch people belonging to certain castes.
Statement (II) : It refers to any belief or social practice which looks down upon people on account

of their birth with certain caste labels.
(1) Both Statement (I) and Statement (II) are true
(2) Both Statement (I) and Statement (II) are false
(3) Statement (I) is true but Statement (II) is false
(4) Statement (I) is false but Statement (II) is true

M rR?% tgSTTtgcl Bit RR ^ReR RRR fklT R̂TT % I R?T s|3IRgB RR 3TsJ % :

cFSTR (I) : Ig3TngR RR HcldR WR îlfcl'M) % cktr % RRft R?T ^R^RBT % I
"RiSTB (II) : R? ^SB RRt RTRTfBTRi 3k 3TTRRJ?i Rif RcRR RRR klT %, kRk PR> R1 URT RfTfR R’ RpR

UR RT^ ckft Rif RpRt BiiR n̂cTT % I

(1) (I) 3k cFSRT (II) RtRf WT 11
(2) (I) 3k cF8IR (II) RUt RcRl f I

(3) cF8R (I) R# f #RR

(4) R^SRR (I) BUB % TkFT^8TB (II ) Wt 11
(II) RcRR tlR>2TB

Who among the following is a part of the political executive ?
(1) District Collector
(2) Secretary of the Ministry of Home Affairs
(3) Home Minister
(4) Director General of Police

[BHlclRacI if BTTB O'jHlftl'fr =hl4niRr1=hl RR HjRRI RfBT % ?
(1) kRuskr
(2) RRlcTR RR RPRR
(3)

(4) ^kfR RplpB^yi'Bi'
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. 4, Option ID :- 644,
 Answer Given:- 3, Option ID : -643

 Question ID:- 162

Options:-

.1, Option ID :- 645,

. 2, Option ID :- 646,

. 3, Option ID :- 647,

. 4, Option ID :- 648,
 Answer Given:- 1, Option ID : -645

 Question ID:- 163

Below are two statements. One of them is Assertion (A) and the other is Reason (R).
Assertion (A) : India has an integrated Judiciary.

Reason (R) :
Which of the following is true in the context of above statements ?
(1) (A) and (R) both are true and (R) is the correct explanation of (A)
(2) (A) and (R) both are true but (R) is not the correct explanation of (A)
(3) (A) is true but (R) is false
(4) (A) is false but (R) is true

Supreme Court controls the judicial administration in the country.

4)4| cteMC’4! ^t? I (A) (R) TBIT 1? I

3Tf̂ raiSR (A) : “HRd "MMHlfdcbl k =bl <jhd % I

cFTWr (R) :
(HHPdfed if Tt %?

(1) (A) (R) <frff t cf«H (R) , (A)^
(2) (A) (R) #Tf f TT8JT (R) , (A)^W\

(3) (A) (R)
(4) (A) (R) tl

if TRTRH^1 Pi^
'Bld ^>TdT % I

oMIOMI % l

©Miom «Mdl % l

It is true about President of the United States of America that :
(i) President is not answerable to the Congress.

(ii) His /Her tenure is for five years.
(iii) He/She doesn't need the support of the majority of members in the Congress.
(iv) He /She can complete his/her tenure even if his/her party does not have a majority in the

Congress.
Code :
(1) (i) and (ii)
(2) Only (iii)
(3) (i), (iii) and (iv)
(4) (ii), (iii) and (iv)
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Options:-

.1, Option ID :- 649,

. 2, Option ID :- 650,

. 3, Option ID :- 651,

. 4, Option ID :- 652,
 Answer Given:- 4, Option ID : -652

 Question ID:- 164

Options:-

.1, Option ID :- 653,

. 2, Option ID :- 654,

. 3, Option ID :- 655,

. 4, Option ID :- 656,

3kfcFt %*fk 3 t :

(i) U'̂ MPCI <=tiIJJ -H % TTfcT diH^Nl % I

dVi4d>Id tfN oN1 ^> T #n % I(ii) d'Hebl

(iii) < I^HRI %%Q;^ diii'H % ®l§Hd % TFTR*k
(iv) smt wf ^5T 3 ^3TRIB 3TW <*>l4<*>ld ‘'JCI =fiTcTT 11

BS?T ^iRflr i'd’Kd

(1) (i) 3k (ii)
(2) (iii)

(3) (i), (iii) 3k (iv)
(4) (ii), (iii) 3k (iv)

Below are two statements. One is Assertion (A) and the other is Reason (R).
Assertion (A) : Parliamentary democracy in most countries is often known as the cabinet form of

government.
Decisions are taken in cabinet meetings.Reason (R) :

Which of the following is true in the context of above statements ?
(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(3) (A) is true but (R) is false
(4) (A) is false but (R) is true

BHI eft c|cfcio4| 7TTI f | TT^ c|ft (A) 3k =f>l <*iHU| (R) "W % I

3Tfk^iSR (A) : 3kr^RT ^?Tf 3 dft'hd l̂ ^Fft *K <=bk t̂TdT % I

eFTTW (R) :

^Flt c|=K1°4i % PlMfdfed if ^ %?

(1) (A) 3k (R) #f t‘ f c T8 1T (R) , (A)

(2) (A) 3k (R) rtf^T (R) , (A) ^11# ÎT̂ IT B#11
(3) (A) (R) TTdd tl
(4) (A) (R) ^ tl

kraft' if 11
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 Answer Given:- 1, Option ID : -653

 Question ID:- 165

Options:-

.1, Option ID :- 657,

. 2, Option ID :- 658,

. 3, Option ID :- 659,

. 4, Option ID :- 660,
 Answer Given:- 1, Option ID : -657

 Question ID:- 166

Below are two statements. One is an Assertion (A) and the other is Reason (R) .

Assertion (A) : Prime Minister is free to choose ministers.
Reason (R) : After the appointmentof the Prime Minister, the President appointsother ministers

on the advice of the Prime Minister.
Which of the following is true in the context of above statements ?
(1) (A) and (R) both are true and (R) is the correct explanation of (A)
(2) (A) and (R) both are true but (R) is not the correct explanation of (A)
(3) (A) is true but (R) is false
(4) (A) is false but (R) is true.

pHl eft c( cfcio4|fpp jp-r f I Ppi pft (A) pft cfcH.u| (R) prpr PPT %
(A) : % "PPP % fdT TPPP ^TcfT f I

eFTTW (R) :

if PlMfdfecl if i) Pifa-TrT TTfift % ?

(1) (A) (R) <ftprf f parr (R) , (A) pft

(2) (A) (R) ptif ^ttpPT (R), (A) p5t^^R§!TTBpfp*r!Ttl
(3) (A) ^t#PPT (R) PdP tl
(4) (A) PPRlt^FT (R) ^ tl

Pit Pi^ofd Pvlt % PTP TfPJPfp PPRHPf Pit -HdlS Tt PffPPt P?T fpgpp PT[ft t I

tl

Think about the following statements and choose the correct answer :
Statement (I) : Prime Minister is the most important political institution in the country.
Statement (II) : There is direct election to the post of the Prime Minister.
(1) Both Statement (I) and Statement (II) are true
(2) Both Statement (I) and Statement (II) are false
(3) Statement (I) is true but Statement (II) is false
(4) Statement (I) is false but Statement (II) is true
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Options:-

.1, Option ID :- 661,

. 2, Option ID :- 662,

. 3, Option ID :- 663,

. 4, Option ID :- 664,
 Answer Given:- 4, Option ID : -664

 Question ID:- 167

Options:-

.1, Option ID :- 665,

. 2, Option ID :- 666,

. 3, Option ID :- 667,

. 4, Option ID :- 668,
 Answer Given:- 2, Option ID : -666

 Question ID:- 168

FT TR f^pcfR R̂ ^>T RFT^I
cp8R (I) : R U^MHVI <M^ ffl =t> #H % I

^2R (ii) : ^nraf if % f^nj. S?RT % i

(1) -5F«FT (I) 3k ^i2R (II) ^T R# f l
(2) ^FSR (I) 3k c&8R (II) ^fTFTctf I

(3) (I) Wft#TH cFRR (II) TJemtl
(4) ^SFT (I) T[ \̂%^R T^SR (ii) WT % l

87. Think about the statements and choose the correct answer :
Statement (I) : Rajya Sabha is more powerful than Lok Sabha.
Statement (II) : Our constitution has given the Rajya Sabha some special powers over the states.
(1) Both Statement (I) and Statement (II) are true
(2) Both Statement (I) and Statement (II) are false
(3) Statement (I) is true but Statement (II) is false
(4) Statement (I) is false but Statement (II) is true

Ff 'fcslHl ’’R R̂ "FTC W\RFT^:

cF8R (I) : FR R*tT, cffaiR*Tf if RflR ?RlT 11
ŜR (II) : ‘HKdh Rff̂ TR if RFRf" % TRW if RFR RRTI 3?f 3tftR7R fFR^f I

(1) T̂SR (I) 3k cfTSFT (II)^Wf tl
(2) ŜFT (I) 3k cF«R (II) TFoTcf f I

(3) ŜR (I) Wt t cfc e*8R (II) RRR tl
(4) <*T2R (I) TfcFt % k̂R cfiSR (II) 11
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Options:-

.1, Option ID :- 669,

. 2, Option ID :- 670,

. 3, Option ID :- 671,

. 4, Option ID :- 672,
 Answer Given:- 3, Option ID : -671

 Question ID:- 169

Read these statements carefully and choose the correct option :
Statement (I) : Any ordinary law needs to be passed by both the Houses. But, if there is a difference

between the two Houses, the final decision is taken in a Joint Session.
Statement (II) : In joint session, members of both the Houses sit together. Despite having less

number of members, the views of Rajya Sabha are given priority.
(1) Both Statement (I) and Statement (II) are true
(2) Both Statement (I) and Statement (II) are false
(3) Statement (I) is true but Statement (II) is false
(4) Statement (I) is false but Statement (II) is true

cF8R (I) : HIMI-i) 5̂) MlRd ‘SRRcl % I 3RR ^Rl %
<t[ STftTR tyjt-ldl t̂ RTT ’RTRIT 1? I

(II) : 3Tf%I^R "tf ^Tl RRRl % fKHI f> I F̂l HisMI 3R
RFRIRTHT % fq -c) K RT̂ IHCMI fadd) % I

(1) (I) 3|R cFSSR (II)^Tf f I

(2) ^2R (I) 3jR^8R (II) RRcT f I

(3) (I) Tf#|3TR (II) RRd 11
(4) ^JSR (I) Rvmt 3?R «̂R (II) Tf# tl

Think about these statements in the context of India and choose the correct answer.
Statement (I) : President is the head of the state and is the highest formal authority in the country.
Statement (II) : Prime Minister is the head of the government and actually exercises the power on

behalf of the President.
(1) Both Statement (I) and Statement (II) are true
(2) Both Statement (I) and Statement (II) are false
(3) Statement (I) is true but Statement (II) is false
(4) Statement (I) is false but Statement (II) is true
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Options:-

.1, Option ID :- 673,

. 2, Option ID :- 674,

. 3, Option ID :- 675,

. 4, Option ID :- 676,
 Answer Given:- 1, Option ID : -673

 Question ID:- 170

Options:-

.1, Option ID :- 677,

. 2, Option ID :- 678,

. 3, Option ID :- 679,

. 4, Option ID :- 680,
 Answer Given:- 1, Option ID : -677

 Question ID:- 171

T̂Rrf % TR faRR Wt ^3TR R*RT^I

^2R (I) : il^Pd TRJRZTCJ t 3?R 3twfRF 3^T =R RR^ 3#RFRt ?tdT 11
RJ«R (II) : WH 1̂ tR=bK =FT ¥ĝ ^IcfT t 3?R ^13RTd il^Mfd^3TR^ 3tf*RFm 3lfwff =R s^MId

R̂dT % I

(1) R> 2R (I) sfa cRSR (II)^W\ f I

(2) R> 8R (I) 3?R cRSR (II) ^Rf RRcT f I

(3) RT8R (I) m\ %#3FR

(4) RTSR (I) ReH % RtfoH cfcSR (II) Wt tl
(II) RRcT tlT̂SR

Read these statements carefully and choose the correct option.
(i) 'Nyaya Yudh (Struggle for Justice) Movement' happened in Jharkhand.

(ii) Chaudhary Devi Lai formed the 'Lok Dal Party'.
(iii) In 1982, Haryana had a government led by the Lok Dal party.

(1) (i) and (ii)
(2) Only (ii)
(3) (ii) and (iii)
(4) Only (iii)

*RR 3pR faction ^>T R*R :

(i) ‘ 1̂4^5’ Sikldd 3f3R 8R I

(ii) f̂RRt sidled ^ ‘ dH^cri wf ’ ^ST feRJT 8JT I

(iii) sR-MMI 1982^‘ d) =b<;d wf ’ =F) 3 ĴCII^ '3TR) *K<*K I

(1) (i) sfa (ii)
(2) %RR (ii)
(3) (ii) 3fR (iii)
(4) (iii)
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Options:-

.1, Option ID :- 681,

. 2, Option ID :- 682,

. 3, Option ID :- 683,

. 4, Option ID :- 684,
 Answer Given:- 3, Option ID : -683

 Question ID:- 172

Below are two statements. One of them is Assertion (A) and the other is Reason (R).

Assertion (A) : In a democratic country, the election should be conducted in a free and fair
manner.

Reason (R) :
Which of the following is true in the context of above statements ?
(1) (A) and (R) both are true and (R) is the correct explanation of (A).
(2) (A) and (R) both are true but (R) is not the correct explanation of (A).
(3) (A) is true but (R) is false.
(4) (A) is false but (R) is true.

Political parties can get their members elected by their own wish.

Bn! eft qcw©M 1^1^f I (A) 3fp ehHUI (R) ^7f>T Wf I

(A) : cil'bfliBl'** if WflJl 3?R ^ I

eblbJI (R) :

^PTT c)cK1°4f % PlMfdftstd 3 TTeft %?

(1) (A) 3fc (R) ^FB (R), (A)

(2) (A) afo (R) (R) , (A) 1̂1̂ 1 BFf 11
(3) (A) (R) tl
(4) (A) TTcfcft^FT (R) ^ tl

<Mdird+ BT&ftf oRT SPpft % 3TI*1R RT =Rf ft=h I

Read these statements carefully and choose the correct option.
Statement (I) : Any Indian citizen gets the right to vote after attaining 18 years of age.
Statement (II) : There isnominimum agefor Indian Citizens tobecome a candidatein the elections.
(1) Both Statement (I) and Statement (II) are true
(2) Both Statement (I) and Statement (II) are false
(3) Statement (I) is true but Statement (II) is false
(4) Statement (I) is false but Statement (II) is true
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Options:-

.1, Option ID :- 685,

. 2, Option ID :- 686,

. 3, Option ID :- 687,

. 4, Option ID :- 688,
 Answer Given:- 3, Option ID : -687

 Question ID:- 173

Options:-

.1, Option ID :- 689,

. 2, Option ID :- 690,

. 3, Option ID :- 691,

. 4, Option ID :- 692,
 Answer Given:- 2, Option ID : -690

 Question ID:- 174

^>*Rf T̂FT ^ ''Tf 3?|R Tift fadicdH T̂ RR^:

cF8R (I) ; ^*ft ‘HKcfl'M dMlR=b 18^ "3H^^ Slcrl^ R 3Tf«RF>r̂ 1?T *1RT f I

cR2R (II) : *IRdfa HHlRehf °Ft "jfTR 3 K GR^ off) o£|f «^HdH ^35 Tjff % I

(1) F̂SFT (I) #igrsR (ii) r̂tfwTfi
(2) cF«R (I) 3fk cR8R (II) ^Hf RR f I

(3) (I) W\|^RfR F̂SR (II) RRcT 11
(4) <*T8H (I) ReR % ^8R (II)^11

There are some restrictions on candidates and parties during Model Code of Conduct. Choose
those which are correct :
(1) To make any promise in the process of election campaigning.
(2) Use of any religious place for election campaigning.

(3) Prohibition on use of any personal vehicle or plane.

(4) The minister can lay foundation stones of any big project after the announcement of election.

3TTTR uT̂ dl 3 <S*-Hkcn<|' afft HlHWl^ HlWR'MTf I Rt TRt H <Sfl=hl RR :

(1) URR % 3RT 3 Tl I

(2) if'TR 3RTR % RiU, f+nl "'RI

(3) fRft TfiR RT fdHId R 3PTPT cjRsfd % I

(4) 3Tf%jNlqiJ|| % RR fRt Rh -Hl Rll RRRT R Rlcll-Mm R H'fcdl 1? I
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Options:-

.1, Option ID :- 693,

. 2, Option ID :- 694,

. 3, Option ID :- 695,

. 4, Option ID :- 696,
 Answer Given:- 1, Option ID : -693

 Question ID:- 175

Why does elections happens ? Which of the following statements are true about this ?
(i) Elections enable the people to judge the performance of the government.

(ii) People can prepare the policies of their own choice by election.

(iii) Elections enable the people to evaluate the performance of the judiciary.

(1) Only (i)
(2) (i) and (ii)
(3) Only (iii)
(4) (ii) and (iii)

'-(di'd <+41 It ? ^ dld-d % ?
(i) efpff *K=bl < % f̂PTefT ^>T ^f I

(ii) eft1! ^ d)fd4f *) =bdl f I

(iii) FTPTl "4NHlRrl =hl % ^t> I

(1) (i)
(2) (i) *(ii)
(3) (iii)
(4) (ii) 3?lT (iii)

Constitution has following works :
(i) It generates a degree of trust and coordination among different kinds of people.

(ii) It specifies how the government will be constituted and who will have the power to take
decisions.

(iii) It lays down unlimited powers to the government.

(1) Only (i)
(2) (i) and (ii)
(3) Only (iii)
(4) (ii) and (iii)
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Options:-

.1, Option ID :- 697,

. 2, Option ID :- 698,

. 3, Option ID :- 699,

. 4, Option ID :- 700,
 Answer Given:- 2, Option ID : -698

 Question ID:- 176

Options:-

.1, Option ID :- 701,

. 2, Option ID :- 702,

. 3, Option ID :- 703,

. 4, Option ID :- 704,
 Answer Given:- 3, Option ID : -703

 Question ID:- 177

% Pi '̂iIciRgci '+> r4 fr :

(i) cRt? % ckfi % sfH R̂tRT 3k W4FT P=l=hfdd R̂tTT 11
(ii) ^«tclldl 1? k> *K=bK ^ Idi %df ^PTT 3k i =t>d %FR^ <rl 4 îT STfV'tiK dJM I

(iii) ^5? % 3Tfi<ohld^3kk-FT 'Mdl % I

(1) %*tcl (i)
(2) (i) *(ii)
(3) %̂ T (iii)
(4) (ii) ate (iii)

Following are the objectives of Federal System of governance.

(i) To safeguard and promote the unity of the country.

(ii) To not respect the regional variations.

(1) (i) and (ii) both are true.

(2) (i) and (ii) both are false.

(3) (i) is true but (ii) is false.

(4) (i) is false but (ii) is true.

TRk yiRR % PlHRlfed "3^1 f :

(i) ^ cfft '3vHT 3k ®T3I=H klTI
(ii) kk ĉtT3Tf cffi T̂TTI

(1) (i) 3fk (ii) i

(2) (i) 3k (ii) f I

(3) (i)^tvrf5Fr (ii) WcTtl
(4) (i) TMrfl^kR (ii) TH^tl

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


Options:-

.1, Option ID :- 705,

. 2, Option ID :- 706,

. 3, Option ID :- 707,

. 4, Option ID :- 708,
 Answer Given:- 4, Option ID : -708

 Question ID:- 178

Options:-

.1, Option ID :- 709,

. 2, Option ID :- 710,

Below are two statements about decentralization. Choose the correct option.

Statement (I) : In this, the power is taken away from Central and state government and given to
local government.

Statement (II) : The basic idea behind decentralization is that there are many issues and problems
which can be resolved at local or state level, but the control of Central government
should be ensured, that is why it is done.

(1) Both Statement (I) and Statement (II) are true
(2) Both Statement (I) and Statement (II) are false
(3) Statement (I) is true but Statement (II) is false
(4) Statement (I) is false but Statement (II) is true

fqof)Rl =b<ul % TR'*!if finPelRacI cjeftic-qi ^ TFFf fa =t> <rH ^>T WR ^
(I) : ^ #FR WTPl *Kebl<f 11
(II) : PlMdKl T«TRfa Ĵ T T f l T''R

^)T Pl4i5lul oRT f^FTl ŜTTcTT % I^TTCTT -H <*=hK

(1) (I) cF8H (II)^Tf f I

(2) CFSSR (I) OF8H (II) ^Rf RRcT f I

(3) CF8R (I)^%#5R

(4) (I) RcR %
(II) RRcT 11
(II) *13tt I

^SFT

1

In India, seats are reserved for women in :
(1) Lok Sabha
(2) State Legislative assemblies
(3) Cabinets
(4) Panchayati Raj Bodies

'HRTT 3^3pRRf % fRTT 3TTC8FI WIT %
(1) cfcfRNT
(2) fsmRRT T̂T

(3) TRf

(4) HT̂ HSCI
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. 3, Option ID :- 711,

. 4, Option ID :- 712,
 Answer Given:- 3, Option ID : -711

 Question ID:- 179

Options:-

.1, Option ID :- 713,

. 2, Option ID :- 714,

. 3, Option ID :- 715,

. 4, Option ID :- 716,
 Answer Given:- 3, Option ID : -715

 Question ID:- 180

Think about following statements and choose the correct answer :
(i) According to the Constitution, the use of English for official purpose was to stop in 1965.

However,many non-Hindi speakingstates demanded that the use of English should continue.
(ii) In 1965, there were violent revolts against the compulsion of use of English.
(iii) The CentralGovernment resolved the matter of Hindi- English dispute by agreeing to continue

the use of English along with Hindi.

(1) Only (i)
(2) (i) and (ii)
(3) (i) and (iii)
(4) (ii) and (iii)

PlHfclfigci RRHt TR Wf TrR RiT RR5

(i) RfasiET % 3FJRR -HtchRl cbIMohN RM % c?R RT cfn 3PTET 1965 3 spf I Tt
31^ RTRt % RFT % 3T^F5ft ^pqET R3T^I

(ii) 3 lit 1965 ai t̂ % R4RT ^3R iq; s) |

(iii) TR37R ^ % RT*I-RT*T T̂Rf 3 TPlET 3^Hfc1 '^TR
I

(1) (i)
(2) (i) 3?R (ii)
(3) (i) (iii)
(4) (ii) afa (iii)
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Options:-

.1, Option ID :- 717,

. 2, Option ID :- 718,

. 3, Option ID :- 719,

. 4, Option ID :- 720,
 Answer Given:- 3, Option ID : -719

Print ResponseSheet

What was the reason behind the confrontation between the Sinhala-speakers and Tamil-speakers
in Sri Lanka ?
(A) The majority of Sinhala speaking people.
(B) The majority of Tamil speaking people.
(C) Most of the Sinhala speakers were Buddhists.
(D) Most of the Tamils were Hindus.
Code :

(1) (A) and (B)
(2) (B) and (D)
(3) (A), (C) and (D)
(4) (B), (Q and (D)

(A) bri6eil-wt eTthf °i§ddi i

(B) dfad-^'ld'} ^RrT cfhTt «ftsddl I

(C) stfsRFcR Rjgdl d
"Pl «?loSi I

(D) 3#4^KR dfad 'dBT I

(1) (A) sk (B)
(2) (B) (D)
(3) (A), (C) 3fc (D)
(4) (B), (C) 3^ p)
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Exam Shift : MorningExam date : 12.02.2023

KVS RECURITMENT EXAM 2022
Provisional Answer Keys

Post : TGT SST

Qno keyQuestion Description

001 3General English

002 4General English

003 3General English

004 2General English

005 4General English

006 4General English

007 3General English

008 3General English

009 3General English

010 2General English

011 3General Hindi

012 4General Hindi

013 2General Hindi

014 2General Hindi

015 1General Hindi

016 4General Hindi

017 3General Hindi

018 4General Hindi

019 2General Hindi

020 2General Hindi

021 3General Awareness& Current Affairs

022 1General Awareness& Current Affairs

023 4General Awareness& Current Affairs

024 2General Awareness& Current Affairs

025 3General Awareness& Current Affairs

026 2General Awareness& Current Affairs

027 2General Awareness& Current Affairs

028 1General Awareness& Current Affairs

029 3General Awareness& Current Affairs

030 2General Awareness& Current Affairs

031 4Reasoning Ability

032 1Reasoning Ability

033 1Reasoning Ability

034 3Reasoning Ability

035 3Reasoning Ability

036 3Computer Literacy

037 4Computer Literacy

038 3Computer Literacy

039 2Computer Literacy

040 3Computer Literacy

041 3Understanding the Learner

042 3Understanding the Learner

043 1Understanding the Learner

044 4Understanding the Learner

045 2Understanding the Learner

046 1Understanding the Learner

047 3Understanding the Learner

048 2Understanding the Learner

049 2Understanding the Learner

050 1Understanding the Learner

051 2Understanding Teaching Learning

Qno keyQuestion Description

052 2Understanding Teaching Learning

053 1Understanding Teaching Learning

054 3Understanding Teaching Learning

055 1Understanding Teaching Learning

056 2Understanding Teaching Learning

057 3Understanding Teaching Learning

058 3Understanding Teaching Learning

059 1Understanding Teaching Learning

060 3Understanding Teaching Learning

061 2Understanding Teaching Learning

062 4Understanding Teaching Learning

063 3Understanding Teaching Learning

064 2Understanding Teaching Learning

065 1Understanding Teaching Learning

066 2Creating Conducive Learning Env. Etc.

067 1Creating Conducive Learning Env. Etc.

068 4Creating Conducive Learning Env. Etc.

069 2Creating Conducive Learning Env. Etc.

070 4Creating Conducive Learning Env. Etc.

071 3Creating Conducive Learning Env. Etc.

072 1Creating Conducive Learning Env. Etc.

073 2Creating Conducive Learning Env. Etc.

074 4Creating Conducive Learning Env. Etc.

075 3Creating Conducive Learning Env. Etc.

076 1Creating Conducive Learning Env. Etc.

077 4Creating Conducive Learning Env. Etc.

078 2Creating Conducive Learning Env. Etc.

079 3Creating Conducive Learning Env. Etc.

080 4Creating Conducive Learning Env. Etc.

081 1SOCIAL SCIENCE

082 3SOCIAL SCIENCE

083 2SOCIAL SCIENCE

084 4SOCIAL SCIENCE

085 4SOCIAL SCIENCE

086 1SOCIAL SCIENCE

087 3SOCIAL SCIENCE

088 2SOCIAL SCIENCE

089 2SOCIAL SCIENCE

090 4SOCIAL SCIENCE

091 2SOCIAL SCIENCE

092 4SOCIAL SCIENCE

093 1SOCIAL SCIENCE

094 4SOCIAL SCIENCE

095 1SOCIAL SCIENCE

096 3SOCIAL SCIENCE

097 3SOCIAL SCIENCE

098 4SOCIAL SCIENCE

099 2SOCIAL SCIENCE

100 3SOCIAL SCIENCE

101 3SOCIAL SCIENCE

102 3SOCIAL SCIENCE

Qno keyQuestion Description

103 2SOCIAL SCIENCE

104 1SOCIAL SCIENCE

105 1SOCIAL SCIENCE

106 1SOCIAL SCIENCE

107 3SOCIAL SCIENCE

108 1SOCIAL SCIENCE

109 3SOCIAL SCIENCE

110 1SOCIAL SCIENCE

111 1SOCIAL SCIENCE

112 3SOCIAL SCIENCE

113 1SOCIAL SCIENCE

114 4SOCIAL SCIENCE

115 1SOCIAL SCIENCE

116 1SOCIAL SCIENCE

117 1SOCIAL SCIENCE

118 1SOCIAL SCIENCE

119 3SOCIAL SCIENCE

120 1SOCIAL SCIENCE

121 3SOCIAL SCIENCE

122 4SOCIAL SCIENCE

123 1SOCIAL SCIENCE

124 1SOCIAL SCIENCE

125 2SOCIAL SCIENCE

126 2SOCIAL SCIENCE

127 3SOCIAL SCIENCE

128 4SOCIAL SCIENCE

129 1SOCIAL SCIENCE

130 3SOCIAL SCIENCE

131 3SOCIAL SCIENCE

132 2SOCIAL SCIENCE

133 2SOCIAL SCIENCE

134 1SOCIAL SCIENCE

135 2SOCIAL SCIENCE

136 4SOCIAL SCIENCE

137 3SOCIAL SCIENCE

138 4SOCIAL SCIENCE

139 3SOCIAL SCIENCE

140 2SOCIAL SCIENCE

141 1SOCIAL SCIENCE

142 3SOCIAL SCIENCE

143 1SOCIAL SCIENCE

144 1SOCIAL SCIENCE

145 2SOCIAL SCIENCE

146 3SOCIAL SCIENCE

147 1SOCIAL SCIENCE

148 2SOCIAL SCIENCE

149 4SOCIAL SCIENCE

150 2SOCIAL SCIENCE

151 2SOCIAL SCIENCE

152 1SOCIAL SCIENCE

153 1SOCIAL SCIENCE

Page 1
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Exam Shift : MorningExam date : 12.02.2023

KVS RECURITMENT EXAM 2022
Provisional Answer Keys

Post : TGT SST

Qno keyQuestion Description

154 2SOCIAL SCIENCE

155 3SOCIAL SCIENCE

156 3SOCIAL SCIENCE

157 3SOCIAL SCIENCE

158 3SOCIAL SCIENCE

159 1SOCIAL SCIENCE

160 1SOCIAL SCIENCE

161 3SOCIAL SCIENCE

162 2SOCIAL SCIENCE

163 3SOCIAL SCIENCE

164 1SOCIAL SCIENCE

165 2SOCIAL SCIENCE

166 3SOCIAL SCIENCE

167 4SOCIAL SCIENCE

168 3SOCIAL SCIENCE

169 3SOCIAL SCIENCE

170 2SOCIAL SCIENCE

171 3SOCIAL SCIENCE

172 3SOCIAL SCIENCE

173 2SOCIAL SCIENCE

174 2SOCIAL SCIENCE

175 2SOCIAL SCIENCE

176 3SOCIAL SCIENCE

177 3SOCIAL SCIENCE

178 3SOCIAL SCIENCE

179 3SOCIAL SCIENCE

180 3SOCIAL SCIENCE
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